4.0
Syntax

4.1
Noun-phrases 

4.1.1 Simple noun phrases


Noun phrases consisting of a single noun occur only with proper names (as in example 2) or in stative sentences with the verb k’o(lik) “to exist” (as in example 1). 

1:
K’o  kootz’a’j.

There are flowers.

2:
Chent k’o rqul

Chent k’o r+qul

Chent EXIST 3sPOS+throat

Chent has a cough

In all other cases a determiner is required unless a noun is possessed or quantified.  Sipakapense determiners are as follows:

wu – definite, closer to speaker than to listener or close to both speaker and listener

3:
wu tz’i’


the dog

la – definite, closer to listener than to speaker

4:
la tz’i’


the dog

ri – definite, known, but not visible to speaker or listener, or has been previously mentioned but not present in the current discourse

5:
ri tz’i’


the dog

jun – indefinite, the number “one”

6:
jun tz’i’


a dog

ri jun – specific indefinite, this form combines the definite ri with the indefinite jun to form a specific indefinite.  The specificity of the indefinite often arises because the indefinite noun phrase has been previously referred to in the discourse, but the specifics of which particular noun is referred to is unknown.  Nouns marked with ri jun are indefinite, but they are also known, usually through previous mention in the discourse. Thus, the form ri jun has a meaning somewhat like “this one” in English.  For example, if the discourse has referred to “a group of boys” the form “this one boy” to convey that the boy in question is part of the previously mentioned group, although the details concerning the boy (other than that he is part of the group) are not known. (ri jun tz’i’ = the one dog)


Except for stative existential sentences and proper names, one of these determiners is obligatory for all noun phrases that are not quantified, modified or possessed.  Although proper names do not need determiners, they may occur with any determiner.  For example, if the person in question is not present, but is known to all participants in the discourse, the determiner ri will be used.  If an honorific (see 3.10 above) occurs with the proper noun, the honorific always immediately precedes the proper noun (whether or not a determiner occurs).

8:
ri Wan

DET Wan

Wan (proper name)

9:
ta’ Way

CLAS Way

Mr. Way

10:
ri ta’ Way

DET CLAS Way

Mr. Way

Nouns may be optionally marked for plurality with the addition of the particle ke’q before the head noun (and before any adjective phrases).  A noun without ke’q may be either plural or singular, but a noun with ke’q must be plural.  Plural nouns marked with ke’q do not require determiners although they may be quantified as well as marked for plurality.

11:
ri achi

DET man

The man/men.

12:
ri ke’q achi

DET PLU man

The men.

13:
keb’ achi

TWO men

two men

14:
keb’ ke’q achi

TWO PLU man

Two men.

15:
keb’ ke’q nima tz’i’

keb’ ke’q nim+a tz’i’

TWO PLU big+AFF dogs

two big dogs

16:
ke’q altom 

ke’q altom 

PLUR boys 

boys

4.1.2
Adjectives


Adjective phrases occur immediately before the head noun of a noun phrase. There are two types of adjective phrases, root adjectives and positional adjectives (i.e. those derived from positional roots. Both types of adjective may take the attributive suffix +laj (see 3.5.2.1. above). If both types of adjective phrase occur within the same noun phrase, the root adjectives will always follow positional adjectives.  If multiple adjective phrases occur, the suffix +laj will only occur on the first adjective.  Adjectives may also be marked for plurality with the addition of the post-clitic taq, which follows +laj and occurs immediately before the head noun.  In addition, root adjectives may also be marked for plurality with the prefix i+.  The prefix i+ and the post-clitic taq may co-occur.  As noted above, the plural marker ke’q occurs before adjective phrases.

17:
ri nima tz’i’

ri niim+a tz’i’

DET big+AFF dog

the big dog.

18:
jun t’ort’ik laj tlul

jun t’or+Cik laj tlul

one round+DRV ATTR zapote(mamey).

A round zapote.

19:
jun niim laj tz’i’.

one big ATTR dog

a big dog

20:
ri niim laj taq tz’i’

DET big ATTR PLU dog

The big dogs.

21:
inmaq taq lej

i+niim+aq taq lej

PLU+big+PLU PLU tortilla

big tortillas

22:
keb’ ke’q nima tz’i’

keb’ ke’q nim+a tz’i’

TWO PLU big+AFF dogs

two big dogs

23:
jun set+sik 
    laj      rex      q’ooq’

one round+AFF   ATTR  green   chilacayote

A round green chilacayote

24:
saqsoj laj taq kmi’x

saq+soj laj taq kmi’x

white+DRV ATTR PLU shirt

white shirts

25:
skotlul laj nmaq taq chee’

skot+l ul laj niim+aq taq chee’

twisted+DRV dir(arrive) ATTR big+PLU tree

big twisted sticks

Only stative positional adjectives may follow nouns. 

26:
jun q’aáwa’ paq’+tl+ik

one jug crack+STA+PFM

a cracked jug

27:
jun nim+a q’aáwa’ paq’+tl+ik

a    big+AFF    jug       cracked

a big cracked jug

4.1.3 Numbers

Numbers occur immediately before any adjective phrases and before ke’q (if it occurs).  Numbers may occur with determiners, in which case the number follows the determiner. All other quantifiers (not numbers) occur before the determiner. 

28:
keb’ ke’q nima tz’i’

keb’ ke’q nim+a tz’i’

TWO PLU big+AFF dogs

two big dogs

29:
ri       k’eb’ nim+a          tz’i’

DET two     big+AFF  dog

The two big dogs

30:
ri k’eb’ ke’q  nim+a tz’i’

DET two PLU big+AFF dog

The two big dogs

31:
oxib’ q’uqlik laj nmaq taq ixaq

oxib’ q’uq+lik laj niim+aq taq ixaq

three seated+DRV ATTR big+PLU PLU women

three big seated women

32:
nk’ej ri ajk’lob’

some DET boys

some of the boys

33:
njel ri wnaq

all DET people

all the people

34:
qa jun chke ri ajk’lob’

qa jun ch+ke ri ajk’lob’

NEG one PREP+3pPRO DET boys

not a single boy, not one of the boys

35:
jun ch+ke ri ajk’lob’

one PREP+3pPRO DET boys

one of the boys

36:
jun iwa

one 2pPRO

one of you

4.1.4
Possession

Possession is marked by the addition of the possessive prefix to the head noun. The noun phrase of the possessor immediately follows the head noun, but need not be expressed.  In addition, possession may be indicated by a relational noun phrase following the head noun.  In this case, the relational noun +ech carries the possessive prefix and the possessor noun phrase immediately follows the relational noun. Possessed nouns may be quantified and/or marked by determiners. However, an adjective phrase may not precede a noun marked by a possessive prefix.  If an adjective modifies a noun that is possessed, the possession is indicated though the use of the relational noun phrase, rather than marking possession directly on the head noun.

37:
ri k’eb’ rtz’i’ Wan

ri        k’eb’   r+tz’i’        Wan

DET   two    3sPOS+dog Wan

Wan’s two dogs

38:
ri k’eb’ rtz’i’

ri k’eb’ r+tz’i’

DET two 3sPOS+dog


his two dogs

39:
*ri k’eb’ nima rtz’i’ Wan

ri k’eb’ nim+a r+tz’i’ Wan

DET two big+AFF 3sPOS+dog Wan

*Wan’s two big dogs

40:
*ri k’eb’ rnima tz’i’ Wan

ri k’eb’ r+niim+a tz’i’ Wan

DET two 3sPOS+big+AFF dog Wan

*Wan’s two big dogs

41:
ri       k’eb’ (ke’q)  nima  tz’i’   r+ech                    Wan

DET two    (PLU)  big    dog    3sPOS+REL(for)  Wan

Wan’s two big dogs

42:
ri       k’eb’ nima  tz’i’  rech                     achi  k’o    titla’

DET two     big    dog  3sPOS+REL(for) man  EXIST over.there

The two big dogs of the man who lives over there

43:
k+xjab’ ke’q ajklob’

3pPOS+shoe PLU boys

boys’ shoes

4.1.5
 Noun phrases with measure words

Measure words behave like other nouns.  When used as measure words, the measured noun phrase immediately follows the measure word.  Both noun phrases may be modified in any way, except that if the measure word is possessed, the possession may not be expressed on the measure word itself.  Rather the possessing noun phrase must be expressed in a relational noun phrase following the second (measured) noun phrase.

44:
jun xu’k ke’q ichaaj

one basket PLU herbs

a basket of herbs

45:
jun niim xu’k ichaaj

one big basket herbs

a big basket of herbs

46:
ri niim xu’k ichaaj

DET big basket herbs

the big basket of herbs

47:
uxib’ nm+aq xb’o’j sub’

three big+PLU jars tamale

three big jars of tamales

48:
kjib’ ytaaj r+xaq chnoj

four handful 3sPOS+leaves milpa

four handfuls of corn leaves

49:
k’eb’ nmaq xu’k q’en laj lo’n

two big baskets ripe ATTR fruit

two big baskets of ripe fruit

50:
k’eb’ limeet r+kab’+il chkop

two  bottle 3sPOS+sweet+AFF animal

two bottles of honey

51:
jun set+sik laj xu’k ichaaj

one round+AFF ATTR basket herbs

a round basket of herbs

52:
jun k’eb’ xu’k ichaaj r+ech Roq’

one two basket herbs 3sPOS+REL(by) Roq’

Roq’s two baskets of herbs 

53:
*k’eb’ rxu’k Roq’ ichaaj

k’eb’ r+xu’k Roq’ ichaaj

two 3sPOS+basket Roq’ herbs.

*Roq’s two baskets of herbs.

If a stative positional adjective is used to modify the measure word, it may not occur between the measure word and the following noun phrase.  The measured noun phrase may be expressed in a relational noun phrase following the adjective or the adjective may follow the second (measured) noun phrase.

54:
jun nim+a qaáwa’ paq’+tl ul r+um ya’

one big+AFF jug cracked+STA DIR 3sPOS+REL(for) water

a big cracked jug of water

55:
jun xu’k ichaaj jup+tlik

one basket herbs woven+STA

a woven basket of herbs

56:
*jun xu’k juptlik ichaaj

jun xu’k jup+tlik ichaaj

one basket woven+STA herbs

*a woven basket of herbs.

4.1.6
chik

Finally, any noun phrase may be modified with the clitic chik meaning “more, additional, other.”  The clitic chik occurs after the head noun phrase or after the possessor noun phrase following possessed nouns.  If chik is used to modify a measure word, the second (measured) noun phrase may not follow chik (i.e. it cannot be separated from the measure word).  In cases where chik is used with measure words, the measured noun phrase is expressed in a relational noun phrase using the relation noun +ech (for).

57:
ri jun i+chaq’ chik

DET one 2p/f+brother MORE

your other brother

58:
ri jun r+chaq’ Way chik

DET one 3sPOS+brother Way MORE

Way’s other brother

59:
jun k’eb’ xu’k chik r+ech ichaaj

one two basket MORE 3sPOS+REL(by) herbs

two more baskets of herbs

60:
uxib’ tz’uuj chik r+ech ya’

three drops MORE 3sPOS+REL(by) water

three more drops of water

61:
k’eb’ xu’k chik r+ech ichaaj r+ech Roq’

two basket MORE 3sPOS+REL(by) herbs 3sPOS+REL(by) Roq’

two more of Roq’s baskets of herbs

4.2
 Relational noun phrases

Relational nouns are always possessed and convey syntactic or spatial information concerning the possessed noun phrase (and its role in a given sentence).  For a full list of relational nouns and their roles in sentence formation, see 3.3 above. The syntax of relational noun phrases is identical to that of possessed noun phrases, with the relational noun being the head of the phrase:

62:
In wa xinwuut wiib’ rum teew.

In wa x+in+wuut w+iib’ r+um teew

1sPRO 1sEMP COM+1sABS+curl.up 1sPOS+REFL 3sPOS+REL(by) cold

I shuddered from the cold.

63:
Xk’yej Chaan wu chiij ri weech.

x+ø+k’ey+Vj Chaan wu chiij ri w+eech.

COM+3sABS+sell+DRV Chaan DET sheep DET 1sPOS+REL(for)

Chaan sold my sheep.

64:
Pey k’e’l chqiij.

Pey k’o’+el ch+q+iij

Pey exist+DIR(exit) PREP+2pPOS+back

Pey is behind us.

4.3        Prepositional phrases

Within prepositional phrases, prepositions always precede noun phrases. The noun phrase may take any form including relational nouns which are often used to convey spatial information related to prepositional phrases (for more see 3.8.2.2 above).  In the majority of sentences (those without some topicalization or focus-marking), prepositional phrases follow the final noun phrase in a sentence or they immediately follow the verb. Many place names begin with prepositions (e.g. Chuqul “Tejutla,” P-‘ooj “Poj,” Pchun, “Pueblo Veijo”).  For these place names, no preposition is needed if the preposition used is the same as the initial preposition in the place name.

65:
Xkujpe chik chi’ chu qchoch.

xk+uj+pe chik chi’ chu q+choch

FUT+1pABS+come more then PREP 1pPOS+house

We are coming to our house again

66:
Aq’ab’ miiy xinb’ek pchnoj.

aq’ab’ miiy x+in+b’e+k pi+chnoj.

Night today COM+1sABS+go+PFM PREP+milpa.

Early this morning I went to the milpa.

67:
Ri wix krumumik xk’o chkxo’l ri tz’i’.

ri wix k+ø+rum+um+ik x+k’o chi+k+xo’l ri tz’i’.

DET cat INC+3sABS+run+DRV+PFM COM+EXIST

PREP+3sPOS+REL(middle) DET dogs

The cat ran between the dogs.

68:
Ri tz’i’ krumumik xk’isok chriij ri tz’ab’iib’

Ri tz’i’ k+ø+rum+um+ik x+ø+k’is ok chi+riij ri tz’ab’iib’

DET dog INC+3sABS+run+DRV+PFM COM+3sABS+finish 

DIR(enter) PREP+back DET door.

The dog ran behind the door.

69:
Mariy xloq’ xjab’ ke kumu xqka’yij Chuqul.

Mariy x+ø+loq’ xjab’ ke kumu x+ø+q+ka’y+ij Chuqul

Mariy COM+3sA/3sE+buy shoes 3pPRO like 

COM+3sABS+2pERG+see+DRV Tejutla

Mariy bought shoes like those we saw in Tejutla.

4.4     
Word order and simple sentences

4.4.1 Stative sentences

In stative sentences in which two noun phrases are equated with one another, no copula is needed.  

70:
Che rb’i’ ataat?

Che   r+b’i’               a+taat?

What   3sPOS+name 2sPOS+father

What is your father’s name?

71:
In aj P-‘ooj

in aj p+ooj

1sPRO NOM PREP+avocados

I am from Poj. (lit. I am a person from Poj)

72:
Way rb’i’.

Way r+b’i’.

Way 3sPOS+name

His name is Way.

73:
Ri jun chik ri rk’jol May

ri jun chik ri r+k’jol May.

DET one MORE DET 3sPOS+son May.

The other one is May’s son.

No copula is needed for statives involving an adjective and a noun phrase.  The adjective precedes the noun phrase.  

74:
No’j utz kwoch.

No’j  utz         k+woch.

But    good      3pPOS+face

But they are doing well.

75:
Xib’al etzel rtz’i’ Wan.

xib’al etzel r+tz’i’ Wan

very bad 3sPOS+dog Wan

Wan’s dog is very bad.

76:
Saqsoj wu s-’aaq.

saq+soj wu s-’aaq

White+DRV DET clothes.

The clothes are white.

77:
Yuqyik rxkin ri tz’i’

yuq+yik  r+xkin          ri     tz’i’.

long  
    3sPOS+ear DET dog

The dog’s ears are long.

In addition, the attributive affix, which emphasizes the connection between an adjective and the noun it modifies (see 3.5.2.1 above) may be used in stative sentences.

78:
Chak’ laj chee’.

tall ATTR tree

The tree is tall.

79:
Xkin laj achi.

deaf ATTR man.

The man is deaf.

The noun phrase may precede the adjective phrase if the noun phrase is under emphasis, is topicalized within the discourse.  

80:
Ri tz’i’ wu we’ yab’

DET dog DET this sick

That dog there is sick.

In stative sentences involving prepositional phrases, the noun phrase precedes the prepositional phrase.  The prepositional phrase may not precede the noun unless k’o(lik) (see below) is used.  Sentences with a noun phrase and prepositional phrase without k’o(lik) are rare and are used if the noun phrase is not under focus or has been previously mentioned in the discourse.  For example, such sentences may occur as responses to questions concerning the location of a particular object (i.e. “Where is the basket?”)

81:
Ri xu’k purxkin jaay.

ri xu’k pu r+xkin jaay

DET basket PREP 3sPOS+ear house

The basket is in the corner.

The root k’o(lik), meaning “to exist” is used with single noun phrases to form sentences refering to the presence or existence of a particular noun phrase.  The use of k’o(lik) is similar to similar constructions in other languages, such as hay in Spanish, il y a in French, yest’ in Russian, etc.  Although k’o(lik) is never marked for person or number, it may be marked for tense/aspect.  Thus x+k’oo (COM+EXIST) means “there used to be” and may also be used as a temporal adverb meaning “long time ago.”  The word xk’oo may also be used simply to mean “before, long ago.”  In sentences with just k’o(lik) and a noun phrase, the noun phrase follows k’o(lik) unless it is under focus or topicalization (see below).  

82:
K’o niim grasa chpom

K’o 
niim grasa   ch+pom.

EXIST    big   fat       PREP+inside

It has a lot of fat in it.

83:
K’o     nk’ej      kootz’a’j.

EXIST    some      flowers.

There are some flowers.

84:
K’o ri tz’i’ wre’.

EXIST DET dog here

The dog is here.

85:
Ri wix k’o qaj chkxo’l ri ke altem

Ri     wix  k’o qaj     ch+k+xo’l               ri   ke        altem.

DET cat EXIST DIR PREP+3p+middle DET 3pPRO girls(PLU)

The cat is in the middle of the girls.

86:
K’o Chent rqul

k’o Chent r+qul

EXIST Chent 3sPOS+throat

Chent has a cough

87:
Kumu ke ri qkostumb’r ri xk’oo.

kumu ke ri q+kostumb’r ri x+k’oo

like in.this.way DET 1pPOS+custom DET COM+EXIST

Because that was our custom long ago.

4.4.2 Intransitive sentences

For sentences containing only a verb and a subject noun phrase, the most common word order is verb-subject.  The subject noun phrase may be unexpressed.

88:
Xinwrik.

x+in+wor+ik

COM+1sABS+sleep+PFM

I slept.

89:
Xkmik ri ri’j tz’i’.

x+ø+kam+ik ri ri’j tz’i’

COM+3sABS+die+PFM DET old dog

The old dog died.

90:
Kq’oqik ri ajk’al. (root = oq’)

k+ø+q’oq+ik ri ajk’al

INC+3sABS+cry+PFM DET child

The child is crying

Uncontrolled bodily functions such as coughing and sneezing are expressed through intransitive verbs such as pe “come” and ya’ riib’ “to give one’s self.”

91:
Xpe Chent rqul

x+ø+pe Chent r+qul

COM+3sABS+come Chent 3sPOS+throat

Vicente coughed

92:
Chus xpe jun atzyam chriij.

Chus x+ø+pe jun atzyam ch+r+iij

Chus COM+3sABS+come one sneeze PREP+3sPOS+back

Chus sneezed.

93:
Tim xyok riib’ jun chok’ chre.

Tim x+ø+ya’ ok r+iib’ jun chok’ ch+re

Tim COM+3sABS+give DIR 3sPOS+REL(ref) one hiccup PREP+3sPRO

Tim hiccuped.

In all sentences (transitive and intransitive) adverbs immediately precede the verb.  If the adverb is modified by an adjective, the adjective precedes the adverb.  In stative sentences, adverbs occur sentence initially.

94:
Keti xriqnik.

keti x+ø+riq+n+ik

almost COM+3sABS+catch/find+FAP+PFM
S/he almost caught it.

95:
Xib’al chaniim kb’iinik

xib’al chaniim k+ø+b’iin+ik

very quickly INC+3sABS+walk+PFM

S/he walks very quickly.

96:
Uche mit-‘ek Wan.

uche mit+ø+ek Wan

uche REC+3sABS+go Wan

Perhaps Wan has already left.

97:
Qatziij qaqche woy.

really none food

There is really no food.

The subject noun phrase may precede the verb phrase if the subject is preposed.  This occurs if the subject is under emphasis, when the subject is introduced for the first time in the discourse, when there is contrastive focus, or in order to clarify the distinction between one or more possible agents.

98:
Ri ke’q kotz’a’j utz ksiqik

ri ke’q kotz’a’j utz k+siq+ik

DET PLU flower good 3pPOS+smell+NOUN

The flowers smell good.

99:
Wan kwrik.

Wan k+ø+wor+ik

Wan INC+3sABS+sleep+PFM

Wan is sleeping.

100:
Ri nimaq’iij rech Pchun xtikrok iwir.

ri nima+q’iij r+ech pchun x+tikr+ok iwir.

DET big+day 3sPOS+REL(for) Pueblo Viejo COM+begin+DIR(enter) yesterday

The festival for Pueblo Viejo began yesterday.

101:
Beto xqaj b’ik chi ya’.

Beto x+ø+qaj b’ik chi ya’.

Beto COM+3sABS+descend DIR(go) PREP water.

Beto went down to the river.

102:
Are wu ral Roq’ ri xtij njel wu kaab’.

are wu r+al Roq’ ri x+ø+tij njel wu sweets

3sEMP DET 3sPOS+child Roq’ DET COM+3sA/3sE+eat(trans) all DET sweets.

It was Roq’s child that ate all the candy.

4.4.3 Obliques

Prepositional phrases and oblique relational noun phrases occur after the subject noun phrase (i.e. they are sentence final).  The prepositional phrase or the oblique relational phrase may occur before the verb only if it is topicalized or under focus.

103:
Xyol jun wnaq ruk’ Jor.

x+ø+yol jun wnaq r+uk’ Jor.

COM+3sABS+speak one person 3sPOS+REL(with) Jor.

Someone was talking with Jor.

104:
Xwab’ik ri nima ch’iich’ pb’ey

x+ø+wa+b’+ik ri nim+a ch’iich’ p+b’ey

COM+3sABS+stand.up+PVD+PFM DET big+AFF metal PREP+road

The bus stopped in the road

105:
Xpetik jun wix chjay.

x+ø+pet+ik jun wix ch+jay

COM+3sABS+come+PFM one cat PREP+house

A cat came into the house.

106:
Xtzo’pnik Loóla rum rku’ktem

x+ø+tzopin+ik Loola r+um r+ku’k+t+em

COM+3sABS+jump+PFM Loola 3sPOS+REL(for) 

3sPOS+happy+STA+NOUN

Loola jumped for joy

4.4.4 Transitive sentences, word order and topicalization

In transitive sentences, subject and/or object noun phrases need not be expressed. When the noun phrases are both expressed, the most common word order is verb-subject-object (VSO).  Under certain conditions, other word orders are possible (see 4.4.5 below).  The ergative and absolutive marking on the verb must agree with the noun phrases in the sentence, unless both noun phrases are third person singular.  When both subject and object are third person singular, agreement may be optionally marked only with a single zero morpheme (i.e. only the absolutive agreement must be marked). 

107:
Xatrtz’ulij.

x+at+r+tz’ul+ij

COM+2sABS+3sERG+hug+DRV
S/he hugged you.

108:
Xinwoyb’ej ri nima ch’iich’

x+ø+in+woy+b’ej ri nim+a ch’iich’

COM+3sABS+3sERG+wait+DRV DET big+AFF metal

I am waiting for the bus

109:
Kirsk’ij Saant wu rjuuj.

k+i+ø+r+sk’+ij Saant wu r+juuj

INC+EPEN+3sABS+3sERG+read+DRV Saant DET 3sPOS+book

Saant is reading his book.

110:
Ki’rmol Chia wu rchiij

k+i’+r+mol Chia wu r+chiij

INC+3pABS+3sERG+tie Chia DET 3sPOS+sheep

Chia tied up her sheep.

111:
Kirchqijsaj Liy ri s-’aaq

k+i+ø+r+chqij+s+aj Liy ri s-’aaq

INC+EPEN+3sABS+3sERG+dry+CAUS+DRV Liy DET clothes

Liy is drying the clothes

112:
Xkeb’saj Kalux jun q’ooq’

x+ø+keb’+s+aj Kalux jun q’ooq’

COM+3sA3sE+divide+CAUS+DRV Kalux one ayote

Kalux divided an ayote.

113:
Xkayij ri tz’i’ jun b’aaq pi rchi’

x+ø+kay+ij ri tz’i’ jun b’aaq pi r+chi’

COM+3sA3sE+carry+DRV DET dog one bone PREP 3sPOS+mouth

The dog carried a bone in its mouth.

In addition to VSO word order, SVO order is possible may occur in several particular instances: 1) when the subject noun phrase is first introduced into the discourse, or 2) when the subject is emphasized or is under contrastive focus. Also, subjects of reflexive constructions always occur before the verb (see 4.6 below).

114:
Ri tz’i’ xchulj ok wu Jor.

ri tz’i’ x+ø+r+chul+ij ok wu Jor.

DET dog COM+3sABS+3sERG+pee(trans)+DRV DIR(enter) DET Jor.

The dog peed on Jor.

115:
Chaan xnojsaj wu limet ruk’ ya’.

Chaan x+ø+r+noj+s+aj wu limet r+uk’ ya’.

Chaan COM+3sABS+3sERG+fill+CAUS+DRV 

DET bottle 3sPOS+REL(with) water.

Chaan filled the bottle with water.

116:
Jun k’ooy tjin krq’el wu Luks

Jun k’ooy tjin k+ø+r+q’el wu Luks.

one monkey PROG INC+3sABS+3sERG+make.fun.of DET Luks

A monkey is making fun of Luks.

117:
Ri rxb’al Liy ri kchuknik pu wu tiijb’al xb’ek Chnajul.

Ri r+xb’al Liy ri k+ø+chuk+n+ik pu wu tiij+b’al x+ø+b’ek Chnajul

Ri 3sPOS+sister Liy DET INC+3sABS+work+AAP+PFM PREP DET teach+NOM COM+3sABS+go Huehuetenango

Liy’s sister who works in the school went to Huehuetenango.

118:
Max krq’o’lij wu May.

Max k+ø+r+q’o’l+ij wu May

Max INC+3sABS+3sERB+lie(trans)+DRV DET May

Max is lying to May.

119:
In wa’ xintz’ulij ri Liy.

In wa’ x+ø+in+tz’ul+ij ri Liy

1sPRO 1sEMP COM+3sABS+1sERG+hug+DRV DET Liy

I was the one who hugged Liy

120:
At awa’ katb’inik.

At awa’ k+at+b’in+ik

2sPRO 2sEMP INC+2sABS+walk+PFM

It is you that is walking.

SVO word order is often given in elicitation data.  This is probably caused by the combination of translating from Spanish (which has SVO word order) and producing elicited sentences, which almost always introduce new discourse topics.  In actual natural language, SVO order is much less frequent that VSO.  For example, in a narrative text containing 116 sentences with verbs and at least one expressed noun phrase, SVO occurred in only 3 sentences.  Each of these sentences is an example of topicalization.


The text is a series of traditional trickster stories involving the rabbit (trickster) and the coyote.  The first example of topicalization is the second sentence of the text, but the actual first sentence of the narrative. (The first sentence is “I am going to tell you a story about what the rabbit did.”) The narrative begins with the following sentence:

121:
Xk’oo taq ri qjow xb’an njel ri rochb’lal chkop chu wu uleew…

x+k’oo taq ri q+ajow x+ø+b’an njel 

COM+EXIST when DET 1pPOS+lord COM+3sA/3sE+make all

ri r+och+b’al+al chkop chu wu uleew

DET 3sPOS+form+LOC+NOM animal PREP DET land

Long ago, when God made all the species of animals on the earth…

In this sentence God is topicalized because He is the first agent in the actual narrative.  The second example of SVO word order occurs when the coyote’s children are introduced into the storyline.  Here the topicalization represents the introduction of a new discourse referent (the coyotes) and a change in agents from the rabbit (subject of the preceding sentence) to the baby coyotes (the topicalized noun phrase).  In addition to occurring before the verb, the agent is expressed both through the third plural pronoun and the noun phrase “the coyotes.”   This use of overt pronouns is common for topicalized agents.

122:
Xib’i’rka’yijok jun puuq ral sji’l.

x+i+b’+i’+r+k’ay+ij ok jun puuq r+al sji’l

COM+3pABS+go+3pABS+3sERG+see+DRV DIR(enter) 

one bunch 3sPOS+child coyote

He went and saw a bunch of baby coyotes

Ke ri sji’l taq xkka’yjok wu imul xi’ch’ikponok chrij.

ke ri sji’l taq x+ø+k+ka’y+ij ok wu imul x+i’+ch’ik pon ok chu r+iij

3pPRO DET coyote when COM+3sABS+3pERG+see+DRV

DIR(enter) DET rabbit COM+3pABS+jump 

DIR(come) DIR(enter) PREP 3sPOS+back

When the coyotes saw the rabbit they jumped on him.

The third instance of SVO word order is a case of contrastive focus.  In the following sentence, the rabbit has told the coyote to hold up a boulder that is about to fall.  The boulder is actually a cloud and the coyote has been tricked again.  The rabbit escapes and hides while the coyote continues to try to hold up the boulder (cloud).  Because the actions of two agents are contrasted, the second agent is topicalized under contrastive focus.

123:
No’j xranij ri imul, rech xrwuj riib’ ek’ ri prow sji’l kryo’ken rchoq’ab’ 

chu rtikmixik ri pek.

no’j x+ø+ran+ij ri imul, 

but COM+3sABS+escape+DRV DET rabbit, 

r+ech x+ø+r+wuj r+iib’ 

3sPOS+REL(for) COM+3pABS+3sERG+hide 3sPOS+REL(reflexive)

e+k’ ri prow sji’l k+ø+r+ya’ ok ken 

CONJ+then DET poor coyote INC+3sABS+3sERG+give DIR(enter) DIR(leave)

r+choq’ab’ chu r+tikmix+k ri pek.

3sPOS+force PREP 3sPOS+push+PFM DET boulder

But the rabbit escaped to hide himself and then the poor coyote gave all his strength to push the boulder.

All examples of SVO word order in natural language are examples of topicalization or focus such as these. In addition to fronting subject noun phrases, an object noun may occur before the verb when the object is under focus, giving an OV sentence.  This occurs if the object is in contrastive focus, or is somehow under emphasis.  In the first example below, the object noun phrase is in contrastive focus.  The second example is from a discussion of a diet, where the speaker is emphasizing the food he will eat when he starts his diet:

124:
Ri wa teq kinchuknik xaq kjib’ ketzal kinrtoj.

ri wa teq k+in+chuk+n+ik xaq kjib’ ketzal x+ø+in+toj.

DET 1sPRO when INC+1sABS+work+FAP only four 

quetzals COM+3sABS+1sERG+pay

When I work he only pays me four quetzals.

CONTEXT:    A:  How much does he pay you?



B:  Ten quetzals an hour



A: When I work he only pays me FOUR quetzals.

125:
Xaq k’eeb’ wu woy xkintiij.

xaq k’eeb’ wu woy xk+ø+in+tiij.

only two DET tortilla FUT+3sABS+1sERG+eat(trans)

I will only eat two tortillas.

Although extremely rare in natural language, both subject and object may be fronted before the verb.  Thus, SOV word order is possible if the subject is topicalized and the object is under focus.  For example, if both noun phrases are in contrastive focus SOV word order may occur.  

126:
Krka’yij pon ri Mariy jun wix. 

Ri Wan jun tz’i’ krka’yij pon.

k+ø+r+ka’y+ij pon ri Mariy jun wix

COM+3sABS+3sERG+see+DRV DIR(come) DET Mariy one wix

ri Wan jun tz’i’ k+ø+r+ka’y+ij pon

DET Wan one dog COM+3sABS+3sERG+see+DRV DIR(come)


Mariy is looking at a cat. 

It’s a dog that Wan is looking at.

In order to give some idea about the frequency of possible word orders, the following tables display the number of each order in a narrative text and a conversation with three participants.  The number of clauses that are not verb initial is higher for the conversation, as more new topics are introduced during the conversation (compared with the narrative). In the narrative text, 80% of the sentences are verb-initial while in the conversation, 71% of the sentences are verb-initial.  This is somewhat misleading, however, because the SV sentences include both regular intransitive verbs and cases in which the subject fronting is accompanied by a change in voice that is morphologically marked on the verb.  This is the case with the focus antipassive (see 4.9.3 below), which requires that the subject be fronted under focus.  In both texts, clauses with two expressed noun phrases make up less than 10 percent of all clauses.

	Word order
	n
	percent

	VS
	57
	49

	VSO
	7
	6

	SV
	18
	16

	SVO
	3
	3

	OV
	2
	2

	VO
	29
	25

	verb-initial total
	93
	80

	non-verb-initial total
	23
	20

	Totals
	116
	


Table 7:  Word order in a narrative text in Sipakapense

Conversation

	Word order
	n
	percentage

	VS
	21
	26

	VSO
	3
	4

	SV
	13
	16

	SVO
	3
	4

	OV
	8
	10

	VO
	34
	42

	verb-initial total
	58
	71

	non-verb-initial
	24
	29

	Total
	82
	100



Table 8:  Word order in a conversational text in Sipakapense

4.4.5
Definiteness and word order

Based on a comparison across Mayan languages, England (1991:483-5) suggests that Proto-Mayan word order had two possible preverbal positions for TOPIC and FOCUS.  According to England, the basic word order of Proto-Mayan was VOS, with VSO used when the object is marked for animacy,  definiteness, or complexity.  Thus, the word order for Proto-Mayan had the following form:

127:
TOPIC   
FOCUS 
[VOS] 

REORDERED O

This is basically the word order found in other K’ichean languages, which use VOS order except in cases where the object is marked for definiteness or contains a relative clause.  England (1991) compared transitive, active, affirmative, indicative sentences with interchangeable subjects and objects in Tz’utujil (San Pedro la Laguna) and found that both VSO and VOS word order occur depending on the definiteness of the noun phrases in sentences (where jar and ja correspond to Sipakapense ri (the definite article) and jun is the indefinite article “one”:

Here we see that VSO is the order when both constituents are marked explicitly definite with jar, that VOS is the normal order when the subject is marked with ja jun and the object is marked with jun or is unmarked, or if the subject is marked with jar and the object is unmarked, but that if one constituent is marked with jar and the other with either ja jun or jun, then word order is variable and the constituent marked with jar is always interpreted as subject (England 1991: 472).

In addition, if neither consituent is marked with ja or ja jun, then verb-initial word order is unacceptable. 


In Sipakapense, definiteness has an effect on possible word order.  For example, if both subject and object are definite and marked with ri, VSO and SVO are both acceptable word orders and changing the position of the noun phrases will alter the meaning of the sentence (maintaining VSO or SVO order).  When both noun phrases are definite with ri, SOV and OSV are both unacceptable:

128:
Krka’yij pon ri aliit ri alab’ (VSO)

The girl is looking at the boy.

129:
Krka’yij pon ri alab’ ri aliit. (VSO)

The boy is looking at the girl.

130:
Ri aliit krka’yij pon ri alab’ (SVO)

The girl is looking at the boy.

131:
Ri alab’ krka’yij pon ri aliit. (SVO)

The boy is looking at the girl.

132:
*Ri aliit ri alab’ krka’yij pon. (SOV/OSV)

133:
*Ri alab’ ri aliit krka’yij pon. (SOV/OSV)

If one noun phrase is marked with ri and the other marked with wu, the noun phrase marked with ri is always interpreted as the subject.  With this combination of definiteness, all word orders are acceptable except for VOS and OSV: 

134:
Krka’yij pon ri aliit wu alab’
(VSO)

The girl is looking at the boy.

135:
*Krka’yij pon wu alab’ ri aliit. (VOS)

136:
Ri aliit krka’yij pon wu alab’ (SVO)

The girl is looking at the boy.

137:
Wu alab’ krka’yij pon ri aliit. (OVS)

The girl is looking at the boy.

138:
Ri aliit wu alab’ kirka’yijpon. (SOV)

The girl is looking at the boy.

139:
*Wu alab’ ri aliit krka’yij pon. (OSV)

Similarly, if one noun phrase is definite and marked with ri and the other is indefinite marked with jun, the noun phrase marked with ri is always interpreted as the subject and all word orders are acceptable except for OSV:

140:
Krka’yij pon ri aliit jun alab’ (VSO)

The girl is looking at a boy.

141:
Krka’yij pon jun alab’ ri aliit. (VOS)

The girl is looking at a boy.

142:
*Jun alab’ ri aliit krka’yij pon. (OSV)

143:
Jun alab’ krka’yijpon ri aliit. (OVS)

The girl is looking at a boy.

144:
Ri aliit krka’yij pon jun alab’ (SVO)

The girl is looking at a boy.

146:
Ri aliit jun alab’ krka’yij pon. (SOV)

The girl is looking at a boy.

If both noun phrases are indefinite and marked with jun, then the only acceptable word order is SVO and all other word orders (including VSO) are unacceptable:

147:
Jun aliit krka’yij pon jun alab’. (SVO) (*OVS interpetation)

A girl is looking at a boy.

148:
*Jun aliit jun alab’ kirka’yijpon (SOV/OSV)

149:
*Jun alab’ jun aliit krka’yij pon (SOV/OSV)

150:
Jun alab’ krka’yij pon jun aliit.(SVO) (*OVS interpetation)

A boy is looking at a girl.

151:
*Krka’yij pon jun aliit jun alab’ (VSO/VOS)

152:
*Krka’yij pon jun alab’ jun aliit (VSO/VOS)

Sipakapense differs from other K’ichean languages in that VOS word order is unacceptable unless the subject is definite and marked with ri and the object is indefinite and marked with jun.  In contrast, other K’ichean languages are usually analyzed as VOS languages (although VSO occurs in certain combinations of definiteness and complexity
).  Thus, Sipakapense has switched primarily to VSO word order.  This change is part of the Huehuetenango Sprachbund (England 1992: 45-57) an areal diffusion which includes the use of retroflex consonants and numerical classifiers in addition to a change to fixed VSO word order.  Although located on the edge of the Huehuetenango Sprachbund area, the only characteristic of the Sprachbund found in Sipakapense is a change to VSO word order.  However, other languages that have moved to VSO word order (Mam, Teko, Awakateko, Ixil, Q’anjob’al, Popti’ and Chuj) all have a fixed VSO word order, in which any word order other than VSO requires grammatical changes that are morphologically marked either on the sentence or on one of the noun phrases.  Sipakapense has adopted VSO word order (probably through contact with Mam), but has not adopted a fixed VSO word order, maintaining (although to a lesser degree) the variability found in other K’ichean languages.  The table below compares the possible word orders in Sipakapense and Tz’utujil.

	Constituents
	Possible word orders



	
	
	Sipakapense
	Tz’utujil

	Subject
	Object
	VOS
	VSO
	VOS
	VSO

	Definite
	Definite
	*
	
	*
	

	Definite
	Indefinite (“jun")
	
	
	
	

	Indefinite ("jun")
	Indefinite ("jun")
	* 
	*
	*
	*

	Indef ("ri/ja jun")
	Indef ("ri/ja jun")
	*
	
	
	*

	Definite
	Indef ("ri/ja jun")
	*
	
	
	*


Table 9: Word order in Sipakapense and Tz'utujil
Thus, Sipakapense has VSO word order for all of the cases in which VSO word order would occur in other K’ichean languages.  However, both languages allow either VOS or VSO order with the subject is definite and the object indefinite.  Similarly, if both subject and object are indefinite, verb-initial order is not acceptable (and the sentence is only interpretable if the subject is topicalized with SVO word order).  A more complete listing of the possible word orders in Sipakapense occurs below: 

	Constituents
	Possible word orders

	Subject
	Object
	vso
	vos
	svo
	sov 
	ovs
	osv

	Definite (“ri”)
	Indefinite (“jun")
	
	
	
	
	
	

	Definite(“ri”)
	Definite (“wu”)
	
	
	
	
	
	

	Indef (“ri jun”)
	Indefinite (“jun”)
	
	*
	
	
	
	*

	Indef (“ri jun”)
	Definite (“wu”)
	
	*
	
	
	
	*

	Definite (“wu”)
	Indefinite (“jun”)
	
	*
	
	
	
	*

	Indefinite(“jun”)
	Definite (“wu”)
	
	*
	
	
	
	*

	Definite (“la”)
	Definite (“wu”)
	
	*
	
	
	*
	*

	Definite (“wu”)
	Definite (“la”)
	
	*
	
	
	*
	*

	Definite (“la”)
	Indefinite (“jun”)
	
	*
	
	
	*
	*

	Definite (“jun”)
	Definite (“la”)
	
	*
	
	
	*
	*

	Indef (“ri jun”)
	Definite (“la”)
	
	
	
	
	
	

	Definite (“ri”)
	Definite (“la”)
	
	*
	
	*
	*
	*

	Definite (“ri”)
	Definite (“ri”)
	
	*
	
	*
	*
	*

	Indef ("ri jun")
	Indef ("ri jun")
	
	*
	
	*
	*
	*

	Definite (“ri”)
	Indef ("ri jun")
	
	*
	
	*
	*
	*

	Indef (“ri jun”)
	Definite (“ri”)
	
	*
	
	*
	*
	*

	Definite (“wu”)
	Indef (“ri jun”)
	
	*
	
	
	
	*

	Definite (“wu”)
	Indef (“ri jun”)
	
	*
	
	
	
	*

	Definite (“la”)
	Indef (“ri jun”)
	
	
	
	
	
	

	Definite (“wu”)
	Definite (“wu”)
	
	*
	
	
	
	*

	Definite (“la”)
	Definite (“ri”)
	
	*
	
	
	
	*

	Definite (“la”)
	Definite (“la”)
	
	*
	
	
	
	*

	Indefinite (“jun”)
	Indefinite (“jun”)
	
	*
	
	
	
	*

	Definite (“wu”)
	Definite (“ri”)
	
	
	
	
	
	

	Indefinite (“jun”)
	Definite (“ri”)
	
	*
	
	
	
	*

	Indef (“jun”)
	Indef (“ri jun”)
	
	*
	
	
	
	*



Table 10:  Definiteness and possible word order in Sipakapense

These data suggest that there is a definiteness hierarchy which determines which noun phrases may be possible subjects.  The hierarcy is:  ri >> unmarked proper names >> ri jun >> la > wu >> jun.  Within this hierarchy, the distance between subject and object noun phrases determines the number of possible word orders. Proper names marked with determiners fall in the hierarchy with other noun phrases having the same determiner.  The number of possible orders increases as the distance in definiteness between the subject and object noun phrases increases (as long as the subject is equal or higher in definiteness compared to the object).  For example, the largest set of possible orders occurs when the subject  noun phrase is marked with ri and the object noun phrase is marked with jun. This combination allows all possible word orders except for OSV, which is only possible when the verb is marked with the focus antipassive (see 4.9.3 below).  If  the two noun phrases are marked with the same article, the possible word orders depends on the definiteness of the subject noun phrase.  If both are in the upper half of the hierarchy (both ri or both ri jun), VSO and SVO are possible.  If both are in the lower half of the hierarchy (both wu or both jun), VSO is not a possible order and the sentence is only understandable when the subject is topicalized (SVO order). Those with the greatest distance in the hierarchy are ungrammatical with any order if the lower noun phrase is intended as the subject (e.g. wu as subject and ri as object).  Although wu is definite and  ri jun is a specified indefinite, ri jun falls above wu in the definiteness hierarchy.  Both ri and ri jun are used for noun phrases that are known to both speaker and listener.  The fact that ri and ri jun pattern together in the definiteness hierarchy suggests that the hierarchy may have more to do with a discoursal constraint on the introduction of new (and unknown) subjects.

4.5
Focused prepositional phrases and the ressumptive pronoun wi’
Just as subject noun phrases may be fronted for topicalization, prepositional phrases may be focused by placing them before the verb.  

153:
Chaq’ab’ xi’rt’iq kandela.

Ch+aq’ab’ x+i’+r+t’iq kandela

PREP+night COM+3pA+3sE+light candles

At night she lit candles

154:
Chrij keej tqyo’kul.

ch+r+iij keej t+ø+q+ya’ ok ul

PREP+3sPOS+REL(back) horse DUB+3sABS+1pERG+give 

DIR(enter) DIR(arrive)

We’ll carry it on a horse’s back.

When locative prepositional phrases are under focus, the particle wi’ generally occurs after the verb (in the position for an unfocused prepositional phrase).  Thus, wi’ acts as a resumptive pronoun, filling the position left vacant by the fronted prepositional phrase.

155:
Nkare’ ptiinmit xinb’e wi’

Nkare’ p+tiinmit x+in+b’e wi’

NEG PREP+town COM+1sABS+go TMR 

It wasn’t into town that I went

156:
Waachi’ xatylow wi’ ruk’ ta’ May?

waachi’ x+at+yol+w wi’ r+uk’ ta’ May?

where COM+2sABS+speak+FAP wi’ 3sPOS+REL(with) CLASS May.

Where did you talk to May?

157:
Wa’ xt-’ek Chent wi’?

Wa’ xt+ø+’ek Chent wi’?

Where FUT+3sABS+go Chent TMR

Where is Chent going?

Although the locative expression and the wi’ particle always co-occur, they may not both follow the verb.  This makes sense, as the particle wi’ marks the absence of the post-verbal locative expression.

158:
Wre’ xtulik Wan wi’.

Wre’ xt+ø+ul+ik Wan wi’.

Here FUT+3sABS+arrive+PFM Wan wi’

Wan arrived here.

159:
*Wan xtulik wre’ wi’.

*Wan xt+ø+ul+ik wre’ wi’.

*Wan FUT+3sABS+arrive+PFM here wi’

*Wan will arrive here.

In stative sentences, the use of  wi’ is variable and sentences with and without wi’ are judged equally acceptable.

160:
Tla k’o ri tz’i’ wi’.

There EXIST DET dog wi’

The dog is there.

161:
Pk’eyb’al k’o nchuch.

pi+k’ey+b’al k’o n+chuch

PREP+sell+LOC EXIST 1sPOS+mother

My mother is in the market.

162:
Si cha’ chamul waa’ k’o qaj ri Roq’ wi’.

Si cha’ ch+a+mul waa’ k’o qaj ri Roq’ wi’

For this OPT+2sABS+gather where EXIST DIR DET Roq’ TMR

Take it down to where Roq’ is.

Otherwise, sentences with a fronted locative expression are generally judged ungrammatical if wi’ does not follow the verb.

163:
Xopnik Wan tla’.

x+ø+pon+ik Wan tla’.

COM+3sABS+come+PFM Wan there.

Wan arrived there.

164:
Tla’ xopnik Wan wi’.

tla’ x+ø+pon+ik Wan wi’

there COM+3sABS+come+PFM Wan wi’

Wan arrived there.

165:
*Tla’ xopnik Wan.

*tla’ x+ø+pon+ik Wan 

*there COM+3sABS+come+PFM Wan 

*Wan arrived there

However, in sentences in which the subject pronoun is topicalized and the locative expression is focused, the occurrence of wi’ is variable.  Such sentences were judged equally grammatical with and without wi’.

166:
Wan tla’ xopnik (wi’)

Wan tla’ x+ø+pon+ik (wi’)

Wan there COM+3sABS+come+PFM (wi’)

Wan arrived there.

4.6
Obliques and indirect objects

Oblique constituents, such as indirect objects and benefactives, are expressed through prepositional phrases or relational noun phrases.  The oblique phrases falls sentence-finally, that is after the subject noun phrase or after the verb if the subject is topicalized.  Indirect objects and recipients are expressed with prepositional phrases using chi/chu.  Benefactives are expressed with relational noun phrases using +um.

167:
Lex xyol jun ta’m chi ri ajk’al.

Lex x+ø+yol jun taa’+m chi ri ajk’al.

Lex COM+3sA3sE+speak one listen+NOUN PREP DET child

Lex told a story to the child.

168:
Xatinsaj ri ajk’al rum rchuch.

x+ø+atin+s+aj ri ajk’al r+um r+chuch

COM+3sABS+bath+CAUS+MOD DET child 

3sPOS+REL(for) 3sPOS+mother

The child was made to bathe by her/his mother.

169:
Pey xtqok wu Wan chu rb’anik jun jay.

Pey x+ø+tqok wu Wan chu r+b’an+ik jun jay

Pey COM+3sA3sE+commit DET Wan PREP 

3sPOS+make+NOUN one house

Pey commited Wan to building a house.

170:
Liy xya’ pon wu juuj chu Wan.

Liy x+ø+ya’ pon wu juuj chu Wan.

Liy COM+3sA3sE+give DIR DET paper PREP Wan

Liy gave the letter to Wan.

171:
Roq’ xb’an sub’ chi Makx.

Roq’ x+ø+b’an sub’ chi Makx

Roq’ COM+3sABS+make tamales PREP Makx

Roq’ made tamales for Makx.

Constructions for putting or placing objects use the verb ya’ “to give,” with a directional clitic to indicate the location/movement of placement.  The locational prepositional phrase fills the same place as the indirect object phrase in other sentences with ya’.

172:
Wiixa xya’n pon ri woy chu meex.

Wiixa x+ø+ya’ a’n pon ri woy chu meex.

Wiixa COM+3sA/3sE+give DIR(up) DIR(arrive.there) DET food PREP table

Wiixa put the food on the table.

If the direct object is unexpressed, the indirect object need not be part of a prepositional phrase, but may be expressed as the patient noun phrase.  In the following example the verb is marked for a third singular object which is unexpressed.  The indirect object is a full noun phrase (jun iwa) rather than part of an oblique prepositional phrase (chiwa)

173:
Tinya’ pon jun iwa chi’ wu wa

T+ø+in+ya’ pon jun iwa chi’ wu wa

POT+3sABS+1sERG+give DIR one 2sPRO then DET 1sPRO

Then I’ll give (it) to one of you.

When under focus, oblique prepositional and relational noun phrases occur before the verb.  If the subject noun phrase is topicalized, the oblique phrase precedes the subject.

174:
Rum Pey kraaj Roq’ rech Chent xt-e’ Chuqul.

R+um Pey k+ø+r+aaj Roq’ r+ech Chent xt+ø+’e Chuqul.

3sPOS+REL(for) Pey INC+3sABS+3sERG+want Roq’ 

3sPOS+REL(by) Chent FUT+3sABS+go Tejutla.

Roq’ wants Chent to go to Tejutla for Pedro

175:
Nkare’ chre Mariy xintaq ri juuj ri’

nkare’ chi re Mariy x+ø+in+taq ri juuj ri’

NEG PREP 3sPRO Mariy COM+3sABS+1sERG+send DET paper there

It wasn’t to Mariy that I sent the letter.

176:
Chi Saant xloq’ jun q’oor Ana.

chi Saant x+ø+loq’ jun q’oor Ana

PREP Saant COM+3sA/3sE+buy one atole Ana

Ana bought Saant an atole.

177:
Chi Saant Ana xloq’ jun q’oor.

chi Saant Ana x+ø+loq’ jun q’oor.

chi Saant Ana COM+3sA/3sE+buy one atole.

Ana bought Saant an atole.

4.7 Reflexives

Reflexive and reciprocal noun phrases are expressed with the relational noun +iib’.  The relational noun is prefixed by the possessive marker corresponding in person and number to the subject of the verb.  The relational noun phrase must immediately follow the verb. Sentences in which the subject noun phrase fall between the verb and the reflexive relational noun are ungrammatical.  The only element that may fall between the verb and a reflexive relational noun phrase is an adverbial complement to the verb (as in 181 below).  In addition, because of constraints on anaphora (see 4.14. below) a relational noun phrase cannot stand in an anaphoric relation with the subject noun phrase when the relational noun phrase precedes the subject noun phrase.  Thus, the subject noun phrase cannot fall between the verb and the reflexive relational noun phrase and the relational noun phrase cannot precede the subject and still maintain the anaphoric relationship between the two noun phrases. These two constraints make it impossible for the subject noun phrases to occur in any post-verbal position (as the only post-verbal position that precedes the relational noun phrase would fall between the verb and the reflexive relational noun phrase.  Because of this, the subject noun phrases of reflexive sentences are either unexpressed or they occur in the position for topicalized subjects (as this preverbal position is the only remaining position for expressing the subject noun phrase).

178:
Jun us tjin krstuj riib’ ajsik

jun us tjin k+ø+r+stuj r+iib’ ajsik

one fly PROG INC+3sABS+3ERG+turn 3sPOS+REL(refl) above

A fly is circling above.

179:
*Tjin krstuj riib’ jun us.

180:
*Tjin krstuj jun us riib’.

181:
Xiikanj ken ruk’ xib’al kiib’.

x+ii+kan+j ken r+uk’ xib’al k+iib’

COM+3pABS+stay+DRV DIR(leave) 3sPOS+REL(with) fear 3sPOS+REL(refl)

They were left afraid.

182:
Ke xkil kiib’

Ke x+ø+k+il k+iib’

3pPRO COM+3sABS+3pERG+see 3sPOS+REL(refl)

They see each other

183:
Mu kaxij awiib’ katqaj chu swon.

Mu k+aw+xij aw+iib’ k+at+qaj chi+wu swon.

QUE COM+2sABS+scare 2sPOS+REL(refl) 

INC+2sABS+descend PREP+DET cliff

But doesn’t it scare you to go down the cliff?

184:
Tee ri xinpjul wiib’ wu we’ k’a xinxij wiib’ b’ay.

Tee     ri      x+ø+in+pj 

    ul         w+iib’ 
       wu   we’


When this  COM+3sABS+1sERB+weigh DIR 1sPOS+reflexive DET there

k’a      x+ø+in+xij w+iib’




b’ay

well,    COM+1sABS+3sERG+frighten 1sPOS+reflexive
well

Well, I weighed myself recently and well, it scared me

185:
Ke ri ral sji’l ri’, chi’ xktkuj kiib’

Ke ri r+al sji’l ri’, chi’ x+ø+k+tuk+j k+iib’

3pPRO DET 3sPOS+child coyote DEM, say, 

COM+3sABS+3pERG+scatter+DRV 3pPOS+REL(refl)

They say the coyote babies scattered (away from one another).

186:
Ri imul xwaj riib’.

ri imul x+ø+waj r+iib’

DET rabbit COM+3sA3sE+hide 3sPOS+REL(reflexive)

The rabbit hid himself.

4.8
Pronouns

There are two sets of pronouns, regular and emphatic pronouns (see 3.1.6 above).  A single emphatic or regular pronoun may susbtitute for object or subject pronouns, as long as the pronoun agrees in number and person.  In addition, both the regular and emphatic pronoun may be used.  If both pronouns are used in place of the subject noun phrase, the pronouns must be topicalized.  Sentences where the verb is in the focus antipassive voice regularly use both an emphatic and a regular pronoun to substitute for the subject noun phrase.

187:
Chemo kib’an iwa ruk’ El

Chemo k+ø+i+b’an iwa r+uk’ El

what INC+3sABS+2pERG+do 2pPRO 3sPOS+REL(with) El

What are y’all going to do with El?

188:
Chatz’onjoj awa chwa.

ch+ø+a+tz’onj+oj awa chi+wa

OPT+3sERG+2sABS+ask+DRV 2sPRO PREP+1sPRO

Ask me.

189:
Kumu k’ot kuuq chi’xk’oo, arek’ ri’ kumu jeerk ri uuq rij chiij.

kumu k’ot k+uuq chi’ x+k’oo are+k’a ri’ kumu jeerk 

like NEG 3sPOS+skirt then COM+exist 3sEMP+then DET like jerga DET skirt 


ri uuq r+ij chiij

3sPOS+REL(back) sheep.

As they didn’t have their skirts, then in the past, They had jergas, skirts made of wool.

190:
Are re xpaq’wik ri si’.

are re x+ø+paq’+w+ik ri si’.

3sEMP 3sPRO COM+3sABS+split+FAP+PFM DET firewood.

He was the one who split the firewood.

191:
At awa xkattojwik.

at awa xk+at+toj+w+ik

2sPRO 2sEMPH FUT+2sABS+pay+FAP+PFM

You will be the one who will have to pay.

4.9
Voice

4.9.1 Passive voices

When a verb is in the simple passive voice (+x or vowel lengthening) or completed passive (+taj) voice (see 3.2.5.5.2 above), the patient is promoted to subject and the agent is either unexpressed or is expressed in an oblique relational noun phrase using +um.  The patient/subject is generally topicalized with passive constructions, but topicalization is not obligatory and verb-initial passive sentences are perfectly acceptable.  If the agent is included in an oblique relational noun phrase, it may also be focused before the verb.  

192:
Méema xtz’ulxik (rum Lex).

Méema x+ø+tz'ul+ix+ik (r+um Lex).

Meema COM+3sABS+hug+PAS+PFM (3sERG+by Lex).

Meema was hugged (by Lex).

193:
Xi’rb’lox ri ab’aj rum Saant

x+i’+r+b’ol+x ri ab’aj r+um Saant

COM+3pABS+3sERG+gather+PASS DET rock 3sPOS+REL(by) Saant

The rocks were gathered by Saant.

194:
Ri ab’aj xi’rb’lox rum Saant.

Ri ab’aj x+i’+r+b’ol+x r+um Saant

DET rock COM+3pABS+3sERG+gather+PASS 3sPOS+REL(by) Saant

The rocks were gathered by Saant.

195:
Rum Saant xi’rb’lox ri ab’aj.

r+um Saant x+i’+r+b’ol+x ri ab’aj

3sPOS+REL(by) Saant COM+3pABS+3sERG+gather+PASS DET rock

The rocks were gathered by Saant./It was Saant who the rocks were gathered by.

4.9.2
Absolutive antipassive

The absolutive antipassive voice (+n, see 4.9.2 above) is used to mention transitive actions without reference to the patient of the verb.  The absolutive antipassive is used when the patient is unknown, irrelevant or obvious.  It may also be used whenever the speaker wishes not to mention the patient.  Also, the absolutive antipassive is used for habitual acts usually performed by the agent.

196:
Ri rxjab’ Wan xi’poq’snik pirqan

ri r+xjab’ Wan x+i’+poq’+s+n+ik pi+r+qan

DET 3sPOS+shoe Wan COM+3pABS+scalded+CAUSE+AAP+PFM PREP+3sPOS+feet

Wan’s shoes gave his feet blisters. (lit. = “Wan’s shoes blistered in his feet”)

197:
Ma’el tjin kt’sin.

Ma’el tjin k+ø+t’is+n

Ma’el PROG INC+3sABS+sew+AAP

Ma’el is sewing.

198:
Ri q’iij xib’al kpron.

Ri q’iij xib’al k+ø+por+n

DET sun much INC+3sABS+burn+AAP

The sun burns a lot.

199:
Ek’ ke wnaq xk’oo chemo ki’s-‘aaqin?

e+k’ ke wnaq x+k’oo chemo k+i’+s-‘aaq+i+n

and+then 3pPRO people COM+exist how INC+3pABS+dress+EPE+AAP

And the people long ago, how did they dress?

The subject noun phrase need not be focused.  In fact, it need not be overtly expressed.

200:
Mitq’len chawiij

mit+ø+q’el+n chu+aw+iij

REC+3sABS+mock+AAP PREP+2sPOS+REL(back)

He has been mocking you.

Although verbs in the absolutive antipassive voice are intransitive, patient noun phrases may be used with the absolutive antipassive.  Absolutive antipassive sentences may have overt patient noun phrases only if the patient is in the third person singular.  The verb is only marked for (absolutive) agreement with the agent noun phrase. If an overt patient noun phrase occurs, the only acceptable word order is SVO.  The focus antipassive animacy hierarchy (see 4.9.3 below) does not hold for the absolutive antipassive.  Sentences with patients other than third singular are judged ungrammatical.

201:
Chwaq xkujb’olnul b’ros chi’.

chwaq xk+uj+b’ol+n ul b’ros chi’

tomorrow FUT+2pABS+gather+AAP DIR(arrive) yard brush

Tommorrow we will gather yard brush.

202:
Wíixa kchomrsnik ri rkuch Mariy.

Wíixa k+ø+chom+r+s+n+ik ri r+kuch Mariy.

Wíixa INC+3sABS+fat+VERS+CAUS+AAP+PFM DET 3sPOS+pig Mariy

Wíixa is fattening up Mariy’s pig.

4.9.3
Focus antipassive

Like the absolutive antipassive, the focus antipassive is used to express transitive actions without mention of the patient.  The focus antipassive is used when the agent is highly emphasized or is in contrastive focus.  The focus antipassive is also used when the agent is questioned (as in 208-12 below).  Because the agent is under focus, it always occurs before verbs in the focus antipassive voice.  

203:
Qi’ Liy xb’now nab’eey wi’m.

Qi’ Liy x+ø+b’an+w nab’eey wi’+m

DIM Liy COM+3sABS+do+FAP first eat+NOUN

It was (little) Liy who made breakfast.

204:
No’j kumu aree ke ral sji’l mas inmaq chu wu imul, ik’iiy k’a, aaay k’ex 

rwoch ri imul, ni jun chin xtto’wik.

No’j kumu aree ke r+al sji’l mas i+niim+aq chi+wu imul i+k’iiy k’a, aay k’ex r+woch ri imul, ni jun chi xt+ø+to’+w+ik 

but as 3sEMP 3pPRO 3sPOS+child coyote more PLU+big+AFF PREP+DET rabbit PLU+many then, aaay, pain 3sPOS+face DET rabbit, NEG one COMP FUT+3sABS+help+FAP+PFM

But as the baby coyotes were bigger than the rabbit and there were many of them, well, aaaay, the poor rabbit, there was no one to help him.

205:
Ri ixoq yt’ulb’ik tjin kk’yew lo’n.

Ri ixoq ø+yut’ ul b’ik tjin k+ø+k’ey+w lo’n

DET woman 3sABS+sit DIR(arrive.here) DIR(go) 

PROG INC+3sABS+sell+FAP fruit

The woman who is sitting down is selling fruit.

206:
Tjin ktiijuj ki’chpow chkop ri ral sji’l.

tjin k+ø+tiij+uj k+i’+chop+w chkop ri r+al sji’l.

PROG INC+3sA/3sE+learn+DRV INC+3pABS+catch+FAP 

animal DET 3sPOS+child coyote

The coyote’s children were learning to catch animals.

207:
Are tloq’wul oqxa’n

are t+ø+loq’+w ul oqxa’n

3sEMP DUB+3sABS+buy+FAP DIR(arrive) supplies

He is going to buy supplies.

Verbs marked for the focus antipassive voice may be syntactically transitive but morphologically intransitive.  That is, the verb is intransitive and is only marked for agreement for a single noun phrase but the sentence has both a agent and patient noun phrase both of which are overtly expressed.  The verb is marked for the patient noun phrase (in the absolutive voice).  The patient noun phrase must be higher than the agent noun phrase following the antipassive animacy hierarchy described by Silverstein (1976).  The hierarchy is as follows:  non-third person >> third person plural >> third person singular.  The verb is always marked with the absolutive pronominal prefix corresponding to the noun phrase that is higher in this hierarchy, which is interpreted as the patient.  For example, if the verb is marked for the first person singular, the agent must be third person and the patient must be first person singular. 

208:
Chin kinto’wik?

Chin k+in+to’+w+ik?

Who INC+1sABS+help+FAP+PFM

Who is going to help me?

209:
Pey xinto’wik?

Pey x+in+to’+w+ik?
Pey COM+1sABS+help+FAP+PFM

Pey helped me.

210:
Chin katto’wik?

Chin k+at+to’+w+ik?

Who INC+2sABS+help+FAP+PFM

Who is going to help you?

211:
Chin kujto’wik?

Chin k+uj+to’+w+ik?

Who INC+1pABS+help+FAP+PFM

Who is going to help us?

212:
Chin kixto’wik?

Chin k+ix+to’+w+ik?

Who INC+2pABS+help+FAP+PFM

Who is going to help you(PLU)?

If neither noun phrase is in the third person, transitive sentences in the focus antipassive are ungrammatical.

213:
*at xinto’wik

*at x+in+to’+w+ik

*2sPRO COM+1sABS+help+FAP+PFM

*You helped me

214:
*in xatto’wik

*in x+at+to’+w+ik

*1sPRO COM+2sABS+help+FAP+PFM
*I helped you

If the two noun phrases are third person, but one is plural, the plural noun phrase is marked on the verb and the singular noun phrase must be the agent. Third person plural may be marked for absolutive agreement on the verb and also be the agent noun phrase only if the object pronoun is unknown or is higher in the animacy hierarchy.  

215:
Chin ki’to’wik?

Chin k+i’+to’+w+ik?

Who INC+3pABS+help+FAP+PFM

Who (plural) are they helping? 

216:
Ke alab’ ri’ xinto’wik.

Ke alab’ ri’ x+in+to’+w+ik

3pPRO boys DEM COM+1sABS+help+FAP+PFM

Those boys helped me.

217:
Pey xi’to’wik

Pey x+i’+to’+w+ik

Pey COM+3pABS+help+FAP+PFM

Pey helped them.

If both noun phrases are in the third person (singular or plural), the patient noun phrase may be expressed in an oblique preposition phrase using chi/chu.  If the agent is third plural and the patient is third singular, the verb may agree with the (plural) agent only if the (singular) patient is expressed in an oblique prepositional phrase.

218:
Chin ki’to’wik chke?

Chin k+i’+to’+w+ik ch+ke?

Who INC+3pABS+help+FAP+PFM PREP+3pPRO

Who (plural) is helping them?

219:
Chin xi’to’wik chre?

Chin x+i’+to’+w+ik ch+re?

Who COM+3pABS+help+FAP+PFM PREP+3sPRO

Who (plural) helped him?

Non-third person objects may not be expressed by oblique prepositional phrases.

220:
*Chin xatto’wik chawa?

*Chin x+at+to’+w+ik ch+awa?

*who COM+2sABS+help+FAP+PFM PREP+2sPRO

*who helped you?

If both noun phrases are third person singular, the agent noun phrase must precede the verb.  In addition, the agent noun phrase must be higher in definiteness than the object noun phrase.  Sentences with two noun phrases of equal definiteness are ungrammatical even if the word order is SVO.  When one of the noun phrases is sufficiently higher in definiteness, the only acceptable word orders are SVO and OSV (but not SOV).  The is the only case in which OSV word order is acceptable.

221:
*Pey xto’wik Mariy.

*Pey x+ø+to’+w+ik Mariy

*Pey COM+3sABS+help+FAP+PFM Mariy

*Pey helped Mariy/*Mariy helped Pey.

222:
*Ri tz’i’ xchopwik ri wix.

*Ri tz’i’ x+ø+chop+w+ik ri wix.

*DET dog COM+3sABS+grab+FAP+PFM DET cat.

*The dog grabbed the cat.
223:
Lex tjin kto’wik wu Pey.

Lex tjin k+ø+to’+w+ik wu Pey.

Lex PROG INC+3sABS+help+FAP+PFM DET Pey.

Lex is helping Pey./It is Lex that is helping Pey.

224:
Wu Pey Lex kto’wik.

wu Pey Lex k+ø+to’+w+ik

DET Pey Lex INC+3sABS+help+FAP+PFM

Lex is helping helped Pey.

225:
*Pey wu Mariy xto’wik.

*Pey wu Mariy x+ø+to’+w+ik

*Pey DET Mariy COM+3sABS+help+FAP+PFM
*Pey helped Mariy/*Mariy helped Pey.
In sentences with the focus antipassive, oblique phrases may be focused (i.e. they may occur before the verb).  The possible word orders with obliques is the same as for regular transitives, except that the subject noun phrase must always be fronted because the verb is in the focus antipassive.  Thus, both the “topicalization” and “focus” preverbal slots (see 4.4.5 above). As the subject noun phrase is under focus, the use of the trace-marking particle wi’ is optional.

226:
Pey kkoswik pu ri b’eey.

Pey k+ø+kos+w+ik pu ri b’eey

Pey INC+3sABS+tire+FAP+PFM PREP DET road

Pey got tired in the road.

227:
Pey pu ri b’eey kkoswik (wi’)

Pey pu ri b’eey k+ø+kos+w+ik (wi’)

Pey PREP DET road INC+3sABS+tire+FAP+PFM (wi’)

Pey got tired in the road.

228:
Pu ri b’eey Pey kkoswik (wi’)

pu ri b’eey Pey k+ø+kos+w+ik (wi’)

PREP DET road Pey INC+3sABS+tire+FAP+PFM (wi’)

Pey got tired in the road.

4.9.4
Instrumental voice

The instrumental voice is not highly productive, especially for younger speakers (see 3.2.5.8 above).  It is used to focus or emphasize the instrument used in an action.  The instrument must be highlighted.  Sentences with the verb in the instrumental voice are ungrammatical if the instrument does not precede the verb.

229:
Mariy kb’antjik ryolwik pqyolb’al no’j qal kraaj kiryolb’ej.

Mariy k+ø+b’an+taj+ik r+yolw+ik p+q+yol+b’al

Mariy INC+3sABS+make+CPS+PFM 3sERG+speak+PFM PREP+3pPOS+speak+LOC

no’j qal k+ø+r+aaj k+i+r+yol+b’ej

but NEG INC+3sABS+3ERG+want 

INC+EPE+3sABS+3sERG+speak+INSTR

Mariy can speak in Sipakapense, but she doesn’t want to speak it.
230:
Yel xk’owsaj rjnob’

Yel x+ø+k’ows+aj r+jnob’

Yel COM+3sABS+celebrate+MOD 3sPOS+year

Yel celebrated his birthday.

231:
Yel ruk’ q’aaq’ xk’owsb’ej rjnob’.

Yel r+uk’ q’aaq’ x+ø+k’ows+b’ej r+jnob’

Yel 3sPOS+COM fire COM+3sABS+celebrate+INSTR 3sPOS+year

Yel celebrated his birthday with fireworks

232:
*Yel xk’owsb’ej rjnob’ ruk’ q’aaq’

*Yel x+ø+k’ows+b’ej r+jnob’ r+uk’ q’aaq’

*Yel COM+3sABS+celebrate+INSTR 3sPOS+year 3sPOS+COM fire

*Yel celebrated his birthday with fireworks

4.10
Agreement-marking 

The absolutive and ergative agreement markers on a verb must agree with the subject and object noun phrases unless the verb is in the focus antipassive voice or both subject and object are in the third person singular.  When both subject and object are third person singular, no overt agreement markers are necessary (i.e. the third singular ergative +r need not occur). Although the third singular ergative marker marker does not occur, tense/aspect prefixes occur in the forms reserved for use before the third singular absolutive zero morpheme (such as mit+/mik+, k+/ch+, etc) (see 3.2.4 above).

233:
Wíixa mitchoq’b’ej chi Wan

Wíixa mit+ø+choq’b’ej chi Wan

Wíixa REC+3sA/3sE+promise PREP Wan

Wíixa is already engaged to Wan

234:
Jun kmatz xxib’j ok wu Liiy.

Jun kmatz x+ø+xib’+j ok wu Liiy.

one snake COM+3sA/3sE+scare+DRV DIR(enter) DET Liiy.

A snake scared Liiy (by coming towards her).

In addition, person need not be marked with the relational noun +opis “to like”.  This relational noun must agree with the number of  the subject noun phrase, while agreement with person is optional.

235:
Ropis (chwa) kinwa’ktelb’ik.

r+opis (ch+wa) k+in+wa’ktel b’ik

3sPRO+like (PREP+1sPRO) INC+1sABS+walk DIR

I like to walk.

4.11
Negation

4.11.1 Basic negation

The two most basic forms of negation are the particles qal and nkare’.  Verbs, adjectives, adverbs, and quantifiers are negated using qal, while statives are negated using nkare’. In stative constructions, nkare’ may negate prepositional phrases, nouns, relational noun phrases and time expressions. With both particles, the negative particle immediately precedes whatever is negated.  However, if the negation is modified by an adverb, the adverb falls between the negative particle and the phrase it negates.

236:
Nkare’ wre’ k’o ri tz’i’.

NEG  here EXIST DET dog.

It isn’t here where the dog is.

237:
Qal k’o ri tz’i’ wre’

NEG EXIST DET dog here

The dog isn’t here.

238:
Qal x+ø+in+toch’ ri chee’ (r+uk’ ikej)

NEG COM+3sABS+1sERG+cut DET tree (3sPOS+REL(with) axe)

I didn’t cut down the tree (with an axe).

239:
Nkare’ r+uk’ ikej x+ø+in+toch’ ri chee’.
 

NEG 3sPOS+REL(with) ax COM+3sABS+1sERG+cut DET tree.

It wasn’t with an axe that I cut down the tree.

240:
Nkare’ chee’ ri x+ø+in+toch’ (r+uk’ ikej).

NEG tree DET COM+3sABS+3sERG+cut (3sPRO+REL(with) axe).

It wasn’t a tree that I cut down (with an axe).

241:
Qal xtz’ulij Lex wu Pey

Qal x+ø+tz’ul+ij Lex wu Pey.

NEG COM+3sA3sE+hug+DRV Lex DET Pey

Lex didn’t hug Pey.

242:
Lex qal xtz’ulij wu Pey.

Lex qal x+ø+tz’ul+ij wu Pey

Lex NEG COM+3sA/3sE+hug+DRV DET Pey

Lex didn’t hug Pey.

243:
Nkare’ Pey x+ø+tz’ul+w+ik wu Chia.

NEG    Pey COM+3sA3sE+hug+FAP+PFM DET Chia.

It wasn’t Pey who hugged Chia.

244:
Nkare’ Chia w+x+ø+tz’ul+ij Pey.

NEG Chia    DET(wu)+COM+3sA3sE+hug+DRV Pey.

It wasn’t Chia that Pey hugged.

245:
Nkare’ Chia w+x+ø+tz’ul+x+ik r+um Pey.

NEG   Chia DET+COM+3sA3sE+hug+PASS+PFM 3sPOS+REL(by) Pey.

It wasnt’ Chia that was hugged by Pey.

246:
Qal chaniim k+ø+b’in+ik.

NEG quickly INC+3sABS+walk+PFM.

He doesn’t walk quickly.

247:
Qal etzel r+tz’i’ Wan.

NEG evil 3sPOS+dog Wan.

Wan’s dog isn’t bad/evil.

248:
Mariy qa niim rwalb’im.

Mariy qa niim r+walb’i+m

Mariy NEG big 3sPOS+stand.up+NOM

Mariy isn’t tall.

249:
Qal rex ri sqil.

NEG ripe(green) DET platano

The platano isn’t ripe.

250:
Qa utz ri aliit xelb’ik.

Qa utz ri aliit x+ø+el b’ik

NEG good DET girl COM+3sABS+leave DIR(go)

It’s not good that the girl left.

251:
Qal qatz xib’al wnaq xiib’ek pk’eyb’al.

qal qatz xib’al wnaq x+ii+b’e+k p+k’ey+b’al

NEG really many people COM+3pABS+go+PFM PREP+buy+locative

Not really many people went to the market.

252:
Uche qal mit-‘ek Wan.

uche qal mit+ø+e+k Wan

Maybe NEG REC+3sABS+go+PFM Wan

Maybe Wan hasn’t left yet.

253:
Qal njel ri ajk’lob’ xi’b’ek chu wa’ktinb’al

Qal njel ri ajk’lob’ x+i’+b’ek chu wa’ktin+b’al.

NEG all DET boys COM+3pABS+go PREP stroll+NOUN

Not all of the boys went to the park. (but some may have)

254:
Wan nkare’ aj tiij.

Wan NEG NOM teach

Wan isn’t a teacher.

255:
Roq’ nkare’ rech P-’ooj.

Roq’ nkare’ r+ech pi ooj

Roq’ NEG 3sPOS+REL(for) PREP+avocado

Roq’ isn’t from Poj.

256:
Nkare’ in x+ø+in+tch’o+w ri chee’ [verb root = toch’]

NEG   1sPRO COM+3sABS+1sERG+cut+FAP DET tree.

It wasn’t me who cut down the tree

257:
Nkare’ ke x+ø+i’+tch’o+w ri chee’.

NEG 3pPRO COM+3sABS+3pERG+cut+FAP DET tree.

It wasn’t them that cut down the tree.

258:
Nkare’ pXoóya’ waachi’ xloq’ Liy ruuq.

Nkare’ p+xoóya’ waachi’ x+ø+loq’ Liy r+uuq.

NEG PREP+Comitancillo where COM+3sA3sE+buy Liy 3sPOS+skirt

It wasn’t in Comitancillo that Liy bought her skirt.

259:
Nkare’ iwiir jorjil xuj-’ek

Nkare’ iwwir jor+jil x+uj+’e+k

NEG yesterday when+DRV COM+1pABS+go+PFM

It wasn’t yesterday that we went

260:
Nkare’ chre Liy xintaq ri juuj ri’

Nkare’ ch+re Liy x+ø+in+taq ri juuj ri’

NEG PREP+3sPRO Liy COM+3sABS+1sERG+send DET paper DEM

It wasn’t to Liy that I sent this letter

261:
Nkare’ ptiinmit xinb’e wi’

Nkare’ p+tiinmit x+in+b’e wi’

NEG PREP+town COM+1sABS+go TMR 

It wasn’t into town that I went

4.11.2 qaqche “nothing”

The negative quantifier particle qaqche means nothing or none.  Like other quantifiers, it immediately precedes the noun it modifies.  The verb is not marked for negative concord.

262:
Qaqche wnaq xiib’ek pk’eyb’al.

Qaqche wnaq x+ii+b’e+k p+k’ey+b’al

NEG person COM+3pABS+go+PFM PREP+sell+NOUN

Nobody went to the market

263:
Qaqche re k’u’l pjul

Qaqche re k’o ul pu jul

nothing 3sPRO EXIST DIR(arrive.here) PREP hole.

There was nothing inside the hole

264:
Oche qaqche ya’.

maybe none water

There may not be any water.

265:
Psaqq’iij qaqche jab’

p+saq+q’iij qaqche jab’.

PREP+white+sun nothing rain

In summer it doesn’t rain.

4.11.3 Negation with mes
The particle mes is used for negation that is nearly complete (but not absolute). 

266:
Mes chinaq xujrto’.

mes chinaq x+uj+r+to’

NEG who(pl) COM+2pABS+3sERG+help

Hardly anybody helped us.

267:
Mes chin kulik.

mes chin k+ø+
ul+ik

NEG who INC+3sABS+arrive+PFM
Nobody came. (but someone could still)

The noun phrase need not be overt for the subject to be negated by mes.

268:
Mes kulik.

mes k+ø+ul+ik

NEG INC+3sABS+arrive+PFM

She/he didn’t come. (but might still arrive)

The use of mes does not convey absolute negation (as does qaqche), but maintains some potential.  Sentences such as the one above are judged ungrammatical with the completive aspect (because if the verb is in the completive aspect the negation must be complete and mes conveys negation that is not absolute.

269:
*Mes xulik.

mes x+ø+ul+ik

NEG COM+3sABS+arrive+PFM

She/he didn’t come (and never will).

The completive aspect with mes is acceptable with an overt noun phrase in which it is clear that the scope of the negation is over the noun phrase. In such cases negation cannot be absolute:

270:
Mes ri wnaq xiib’ek pk’eyb’al.

mes ri wnaq x+ii+b’e+k p+k’ey+b’al

NEG DET people COM+3pABS+go+PFM PREP+sell+locative

Hardly any people went to the plaza.

*Nobody went to the plaza.

Just like qaqche, mes may be used as a negative quantifier in stative sentences when the negation is not as absolute (as it would be with qaqche).

271:
Mes ixiim.

NEG corn.

There’s (practically) no corn.

4.11.4
Negation with k’ot

The negative particle k’ot is historically derived from the verb “to exist” k’o(lik) plus the irrealis marker taq (taj in other K’ichean languages).  Although k’ot does behave like a negative form of k’o(lik) and is used for negative statives k’ot differs from nkare’ in that k’ot does not convey absolute negation.  Rather k’ot conveys a negative subjunctive and is used for cases where it is not clear that the negation is complete because there is either doubt about the negation or a desire that the negation is not true.  Thus, sentences using k’ot are typically translated into Spanish using the Spanish subjunctive.  Because k’ot is not a quantifier, it may also be used in conjunction with a negative quantifier.  This is the only situation in which the use of multiple negative particles occurs.

272:
K’ot ixiim.

NEG corn.

There’s no corn (but I wish there were).

273:
Kumu k’ot kuuq chi’ xk’oo, arek’ ri’ kumu jeerk ri uuq rij chiij.

kumu k’ot k+uuq chi’ x+k’oo are+k’a ri’ kumu jeerk ri uuq r+ij chiij

like NEG 3sPOS+skirt then COM+exist 3sPRO+then

 
DET like jerga DET skirt 3sPOS+REL(back) sheep.

As they didn’t have their skirts, then in the past, 

They had jergas, skirts made of wool.

274:
K’ot mes chinaq tb’ek piink.

k’ot mes chinaq t+ø+b’e+k piink

NEG NEG people DUB+3sABS+go+PFM finca

Not that many people went to the fincas.

4.11.5
“not even,” mu…taq

The interrogative mu may be used in conjunction with the subjunctive clitic taq to produce a negative meaning “not even”

275:
Mu xb’ij taq rech xulik.

mu x+ø+b’ij taq r+ech x+ø+ul+ik

INTER COM+3sABS+say SUBJ 3sPOS+REL(for) COM+3sABS+arrive+PFM

S/he didn’t even say that s/he’s arrived.

276:
Mu xchij ok taq rech xujrto’

mu x+ø+chij ok taq r+ech x+uj+r+to’

INTER COM+3sABS+offer DIR(enter) SUBJ 3sPOS+REL(for) COM+1pABS+3sERG+help

S/he didn’t even offer to help us.

4.11.6
Quantifier negation

All quantifiers except for mes and qaqche may be negated using qal.  There is no negative concord, and double negation is ungrammatical (and sentences with agents negated by qaqche are ungrammatical if the verb is negated with qal).  The examples below demonstrated the interpretation of negated quantifiers.

277:
Qal njel ri ajk’lob’ xi’b’ek chu wa’ktinb’al

Qal njel ri ajk’lob’ x+i’+b’ek chu wa’ktin+b’al.

NEG all DET boys COM+3pABS+go PREP stroll+NOUN

Not all of the boys went to the park. (but some may have)

278:
Njel ri ajk’lob’ qal xi’b’ek chu wa’ktinb’al.

Njel ri ajk’lob’ qal x+i’+b’ek chu wa’ktin+b’al.

All DET boys NEG COM+3pABS+go PREP  stroll+NOUN

All of the boys didn’t go to the park. 

(all of them stayed/not a single one went)

279:
Qal nk’ej ri ajk’lob’ xi’b’ek chu wa’ktinb’al.

Qal nk’ej ri ajk’lob’ x+i’+b’ek chu wa’ktin+b’al.

NEG some DET boys COM+3pABS+go PREP stroll+NOUN

Not some of the boys went to the park. (some went, some didn’t)

280:
Nk’ej ri ajk’lob’ qal xi’b’ek chu wa’ktinb’al.

Nk’ej ri ajk’lob’ qal x+i’+b’ek chu wa’ktin+b’al.

Some DET boys NEG COM+3pABS+go PREP stroll+NOUN

Some boys didn’t go to the park (all of them stayed/not a single one went)

281:
*Qaqche ri ajk’lob’ qal xb’ek chu wa’ktinb’al.

*Qaqche ri ajk’lob’ qal x+ø+b’ek chu wa’ktin+b’al.  

None DET boys NEG COM+3sABS+go PREP stroll+NOUN

None of the boys didn’t go to the park (has meaning of none went at all).

282:
Qal jun chke ri ajk’lob’ xb’ek chu wa’ktinb’al.

Qal jun ch+ke ri ajk’lob’ x+ø+b’ek chu wa’ktin+b’al.

NEG one PREP+3pPRO DET boys COM+3sABS+go PREP stroll+NOUN

Not one of the boys went to the park 

(all of them stayed/not a single one went)

283:
Jun chke ri ajk’lob’ qal xb’ek chu wa’ktinb’al.

Jun ch+ke ri ajk’lob’ qal x+ø+b’ek chu wa’ktin+bal.

One PREP+3pPRO DET boys NEG COM+3sABS+go PREP stroll+NOUN

One of the boys didn’t go to the park (all except for one went)

4.12
Question formation

Yes/no questions are formed by the addition of the particle mu at the beginning of a sentence.  The sentence may be either affirmative or negative, stative or active.

284:
Mu xkixb’ek chwaq chjay?

Mu xk+ix+b’e+k chwaq ch+jay

QUE FUT+2pABS+go+PFM tomorrow PREP+house

Are you going home tomorrow?

285:
Mu paq’tlik ri si’?

Mu paq’+til+ik ri si’

QUE chop+STA+PFM DET firewood

Is the firewood chopped?

286:
Mu k’iiy wnaq ipetnaq chpon?

Mu k’iiy wnaq ø+ii+pet+naq ch+pon

QUE many people PERF+3pABS+come+PERF PREP+inside

Were there lots of people that came in it (the bus).

287:
Mu qal xatb’ek aawa tq’aj?

Mu qal x+at+b’e+k aawa t’qaj?

QUE NEG COM+2sABS+go+PFM 2sPRO coast?

Did you go to the coast?

Other questions are formed using a “wh”-word which must be fronted before the verb.  Questions are ungrammatical if the “wh”-word is not focused.  Although the “wh”-word must precede the verb, it need not be sentence-initial.  If the question is “where,” and the sentence is not stative, the particle wi’ follows the verb (see 4.5 above). 

288:
Waachi’ k’o Chent?

Where  EXIST Chent

Where is Chent?

289:
*Chent k’o waachi’?

*Che EXIST where?

*Where is Chent?

290:
Wa’ xt-’ek Chent wi’?

Wa’ xt+ø+’ek Chent wi’?

Where FUT+3sABS+go Chent wi’

Where is Chent going?

291:
Aajwi’ che xtqtij?

Aajwi’ che xt+ø+q+tij?

Today what FUT+3sABS+1pERG+eat?

Today what are we going to eat?

292:
Che xtqtij aajwi’?

Che xt+ø+q+tij aajwi’?

What FUT+3sABS+1pERG+eat today?

What are we going to eat today?

293:
Jan xkujwi’k?

Jan xk+uj+wi’+k

What.time FUT+1pABS+eat(intrans)+PFM

What time are we going to eat?

294:
Jruj tulik May?

Jruj t+ø+ul+ik May

When DUB+3sABS+arrive+PFM May

When will May arrive?

295:
Chin xi’tjiw ri sub’?

Chin x+i’+tji+w ri sub’ (verb root = tij)

who COM+3pABS+eat+FAP DET tamale

Who ate the tamales?

296:
Che rmal xi’rtij Pey njel ri sub’?

Che r+mal x+i’+r+tij Pey njel ri sub’

What 3sPOS+REL(because.of) COM+3pABS+3sERG+eat 

Pey all DET tamale

Why did Pey eat all the tamales?

297:
Chemo rtz’iib’xik ri’ pqyolb’al?

Chemo r+tz’iib’+x+ik ri’ p+q+yol+b’al?

How 3sERG+write+PASS+PFM DEM PREP+1pPOS+speak+NOUN

How do you write this in our language?

298:
Chin chke ri itz’iib’al?

Chin ch+ke ri i+tz’iib’+al?
(root = tz’iib’ + b’al (NOUN)

Who PREP+3pPRO DET 2pPOS+write+NOUN

Which one is your pencil?/Which pencil is yours?

4.13
Complex Sentences

4.13.1
Coordination

Two independent clauses may be coordinated without the use of a conjunction:

299:
Lex x-’ek pk’eyb’al i ri Saant x-’ek pwa’ktilb’al

Lex x+ø+’ek p+k’ey+b’al  i ri Saant x+ø+’ek p+wa’ktil+b’al

Lex COM+3sABS+go PREP+sell+NOUN and DET 

Saant COM+3sABS+go PREP+stroll+NOUN

Lex went to the market and Saant went to the park.

Although coordinated sentences with no conjunction are acceptable, two clauses are often joined with the conjunction i or e ( both variants of the conjunction y in Spanish). 

300:
Lex x-’ek pk’eyb’al i ri Saant x-’ek pwa’ktilb’al

Lex x+ø+’ek p+k’ey+b’al i ri Saant x+ø+’ek p+wa’ktil+b’al

Lex COM+3sABS+go PREP+sell+NOUN and DET Saant 

COM+3sABS+go PREP+stroll+NOUN

Lex went to the market and Saant went to the park.

The particle i is not used to join two noun phrases, however.  Noun phrases are joined using the relational noun +uk’.  In cases where both noun phrases are third singular and the relational noun precedes the verb, the verb may be marked for pluraity even though the second noun phrase is part of a relational noun phrase.  For example, below the verb is marked for the third person plural: 

301:
May ruk’ Roq’ xi’b’ek pk’eyb’al

May ruk’ Roq’ x+i’+b’e+ik p+k’ey+b’al

May COM+3pABS+go+PFM 1sPOS+REL(with) PREP+sell+locative

May and Roq’ went to the market

Otherwise, number marking on the verb agrees only with the main noun phrase:

302:
May xb’ek wuuk’ pk’eyb’al

May x+ø+b’e+ik w+uuk’ p+k’ey+b’al

May COM+3sABS+go+PFM 1sPOS+REL(with) PREP+sell+locative

May went with me to the market

Clauses and phrases may also be coordinated using the conjunctions no’j “but” and mu “or” (identical to the interrogative particle in 3.12.3.2 above).   The disjunctive conjunction mu “or,” is also used to form alternative questions as in 304 below.

303:
Lex x-’ek pk’eyb’al no’j Saant qa x-’ek

Lex x+ø+’ek p+k’ey+b’al no’j Saant qa x+ø+’ek.

Lex COM+3sABS+go PREP+sell+NOUN but

 Saant NEG COM+3sABS+go

Lex went to the market, but Saant did not go

304:
Ri aq’or ki’ mu k’ey?

Ri a+q’oor ki’ mu k’ey?

DET 2sPOS+atole sweet QUE bitter?

Is your atole sweet or bitter?

305:
No’j iwa xixb’inik iwa tq’aj mu qa xixb’inik xixchuknik?

No’j iwa x+ix+b’in+ik iwa tq’aj mu qa x+ix+b’in+ik x+ix+chuk+n+ik

But 2pPRO COM+2pABS+walk+PFM 2pPRO lowlands or NEG 

COM+2pABS+walk+PFM COM+2pABS+work+AAP+PFM?

But did you (formal) go to the coast and work or not?

306:
Pk’eyb’al xkat-’e wi’ mu chu awchoch?

P+ke’y+b’al xk+at+’e wi’ mu che+wu aw+choch?

PREP+sell+NOUN FUT+2sABS+go TMR QUE PREP+DET 2sPOS+house

Are you going to the market or home?

307:
Roq’ kraaj xt-’ek pk’eyb’al mu qa kraaj xt-’ek?

Roq’ k+ø+r+aaj xt+ø+’ek p+k’ey+b’al mu qa k+ø+r+aaj xt+ø+’ek?

Roq’ INC+3sABS+3sERG+want FUT+3sABS+go PREP+sell+NOUN QUE NEG COM+3sABS+3sERG+want FUT+3sABS+go

Does Roq’ want to go to the market or not (want to go)?

308:
Yáago ju mom rwalb’em no’j ri rchaq nuch’ rwalb’em.

Yaago ju mom r+wal+b’+em no’j ri r+chaq nuch’ r+wal+b’+em

Yaago one big 3sPOS+length(POS)+DRV+NOUN but DET 3sPOS+older.brother small 3sPOS+length(POS)+DRV+NOUN

Yaago is very tall but his older brother is short.

Negative coordinated constructions use the negative particle qa before each of the two coordinated phrases:

309:
Ri ajk’al qa q’oqik qa wrik

Ri ajk’al qa q’oq+ik qa wor+ik

DET child NEG cry+PFM NEG sleep+PFM 

The child neither cries nor sleeps

The conjunctions i and no’j may also be used as discourse markers, introducing clauses rather than joining them:

310:
No’j si xkaya’ ken wu alej xkub’urkach’ka’ wix

No’j si xk+ø+a+ya’ ken wu a+lej xk+ø+ub’u+r+kach’+ka’ wix

but if FUT+3sABS+2sERG+give DIR DET 2sPOS+tortilla 

FUT+3sABS+MOV(go)+3sERG+chew+DRV cat

But if you leave out the tortillas a cat will come and eat them.

311:
I mas kjitul teq xk’ayij re ri prow sji’l ri’.

i mas k+ø+jit ul teq x+ø+k’ay+ij re ri prow sji’l ri’

And more INC+3sABS+approach DIR(arrive) when 

COM+3sA/3sE+see+DRV 3sPRO DET poor coyote there

And he approached more when he saw him, that poor coyote. 

When the conjuction i occurs before the discourse marker k’a “then,” the two merge (and the vowel lowers) to ek’.  This form acts as a discourse marked “and then” as seen below: 

312:
Ek’ ri May che kirlq’ul chaawa teq kb’ek Watemala?

E+k’a ri May che k+i+ø+r+loq’ ul ch+aawa teq k+ø+bek Watemala

and+then DET May what INC+EPE+3sABS+3sERG+buy DIR 

PREP+2sPRO when INC+3sABS+go Guatemala

And what will May buy you when he goes to Guatemala City?

4.13.2
Relative clauses

Relative clauses modifying noun phrases immediately follow the noun phrase and are introduced by the determiner ri.  Other than the introduction of the determiner ri a relative clause does not differ from other clauses in Sipakapense and may be active or stative. The word order of relative clauses introduced by ri is verb initial.  Subject noun phrases with relative clauses are almost always topicalized, but topicalization is not obligatory.  In addition, the determiner ri may introduce relative clauses that modify the subject in stative sentences.

313:
Ri rxb’al Mariy ri kchuknik pu wu tiijb’al xb’ek Chnajul.

ri r+xb’al Mariy ri k+ø+chuk+n+ik pu wu tiij+b’al x+ø+b’ek Chnajul.

DET 3sPOS+brother Mariy DET INC+3sABS+work+FAP+PFM 

PREP DET teach+LOC COM+3sABS+go+PFM Huehuetenango.

Mariy’s brother who works in the school went to Huehuetenango.

314:
Ri lo’n ri krk’yej Tol tjin kq’eyik.

ri lo’n ri k+ø+r+k’ey+j Tol tjin k+ø+q’ey+ik

DET fruit DET INC+3sABS+3sERG+buy+DRV 

Tol tjin INC+3sABS+rot+PFM

The fruit that Tol bought is rotting.

315:
Xtoch’ Wan ri chee’ ruk’ ri ikej ri xqaj chu May.

X+ø+toch’ Wan ri chee’ r+uk’ ri ikej ri x+ø+qaj ch+u May

COM+3sA3sE+cut Wan DET tree 3sPOS+REL(with) axe DET 

COM+3sA3sE+borrow PREP+DET May

Wan cut down the tree with the axe that he borrowed from May.

316:
Xylow Pey ruk’ ri alab’ ri k’o rchoch Xe’ Jyub’.

X+ø+ylow Pey r+uk’ ri alab’ ri k’o r+choch Xe’ Jyub’.

COM+3sABS+speak Pey 3sPOS+REL(with) DET boy DET EXIST 

3sPOS+house foot mountain

Pey spoke with the boy whose house is in Xe’ Jyub’ (Pie de la Cuesta)

317:
Wan xwi’taj ri tz’i’ ri xinrti’j.

Wan x+ø+wi’t+aj ri tz’i’ ri x+in+r+ti’j

Wan COM+3sA3sE+kill+DRV DET dog DET COM+1sABS+3sERG+bite

Wan killed the dog that bit me.

318:
Roq’ xloq’ xjab’ ke kumu xqka’yij Chuqul.

Roq’ x+ø+loq’ xjab’ ke kumu x+ø+q+ka’y+ij Chuqul

Roq’ COM+3sA3sE+buy shoes as like 

COM+3sABS+1pERG+see+DRV Tejutla

Roq’ bought some shoes like the ones we saw in Tejutla.

319:
Xk’yej Wan wu chiij ri rech May.

x+ø+k’ey+j Wan wu chiij ri r+ech May

COM+3sABS+buy+DRV Wan DET sheep DET 3sPOS+REL(for) May

Wan sold the sheep that belongs to May.

320:
Are wu ral Wíixa ri xtij njel wu kaab’.

are wu r+al Wíixa ri x+ø+tij njel wu kaab’.

3sEMP DET 3sPOS+child Wíixa DET COM+3sABS+eat all DET sweets

It was Wíixa’s child that ate all the sweets.

Locative relative clauses are introduced by waachi’ “where”

321:
Xujb’ek pjyub’ waachi’ k’o rchoch Mink

x+uj+b’e+k p+jyub’ waachi k’o r+choch Mink

COM+2pABS+go+PFM PREP+hill where exist 3sPOS+house Mink

We went to the hill where Mink’s house is.

322:
Qa utz ri krb’an.

qa utz ri k+ø+r+b’an

NET good DET INC+3sABS+3sERG+make

What he’s doing isn’t good.

4.13.3
Adverbial clauses

Clauses may be joined in “if…then” constructions using the particle si “if” (borrowed from Spanish) and xuq “then.”  

323:
Si Saant xt-’ek Chuqul, xuq xkinb’e wa.

Si Saant xt+ø+’e+k Chuqul xuq xk+in+b’e wa.

If Saant FUT+3sABS+go+PFM Tejutla only FUT+3sABS+go 1sEMP

If Saant is going to Tejutla then I’m going too.

Temporal adverbial clauses are formed using the particle taq/teq.  Either of the two clauses may come first in the sentence.

324:
Taq Naáncho xjaq ri tz’ab’ib’ ri tz’i’ xel b’ik.

Taq Naancho x+ø+jaq ri tz’ab’ib’ ri tz’i’ x+ø+el b’ik

When Naancho COM+3sA3sE+open DET door 

DET dog COM+3sABS+leave DIR

When Naancho opened the door the dog went out.

325:
Taq xintz’amjik chjay xtikrok wu jaab’.

Taq x+in+tz’amj+ik ch+jay x+ø+tik+r ok wu jaab’.

When COM+1sABS+return+PFM PREP+house 

COM+3sABS+begin+VER DIR DET rain

When I returned to the house it started to rain

326:
Ek’ ri May che kirlq’ul chaawa teq kb’ek Watemala?

E+k’a ri May che k+i+ø+r+loq’ ul ch+aawa teq k+ø+bek Watemala

and+then DET May what INC+EPE+3sABS+3sERG+buy DIR 

PREP+2sPRO when INC+3sABS+go Guatemala

And what will May buy you when he goes to Guatemala City?

Causative adverbial clauses are introduced with the relational noun phrase r+um “by it.”  The clause itself acts as the possessor for the relational noun.  The verb in the causative clause requires no special changes.

327:
Xinrumumik rum ri jaab’ xtikrok.

x+in+rum+um+ik r+um ri jaab’ x+ø+tik+r ok

COM+1sABS+run+DRV+PFM 3sPOS+REL(for) 

DET rain COM+3sABS+begin+VER DIR

I ran because the rain started.

328:
Liip x-’ek pk’eyb’al rum kraaj xtlq’ow lo’n.

Liip x+ø+’e+k p+k’ey+b’al r+um k+ø+r+aaj xt+ø+loq’+w lo’n

Liip COM+3sABS+go+PFM PREP+sell+NOUN 3sPOS+REL(for) 

INC+3sABS+3sERG+want FUT+3sABS+buy+FAP fruit

Liip went to the market because he wants to buy fruit

Causative relative clauses may also be introduced by a relative noun phrase using r+ech.  Where those with +um have the meaning of  “because” or “since,” those introduced by +ech mean “in order to” or “so that.”

329:
Liip x-’ek pk’eyb’al rech tloq’ lo’n.

Liip x+ø+’e+k p+k’ey+b’al r+ech t+ø+loq lo’n

Liip COM+3sABS+go+PFM PREP+sell+NOUN 

3sPOS+REL(by) DUB+3sA3sE+buy fruit

Liip went to the market in order to buy fruit

330:
Liip x-’ek pk’eyb’al rum ral rech kktij lo’n

Liip x+ø+e’+k p+k’ey+b’al r+um r+al r+ech k+ø+k+tij lo’n

Liip COM+3sABS+go+PFM PREP+sell+NOUN 3sPOS+REL(for) 

3sPOS+child 3sPOS+REL(by) DUB+3sABS+3pERG+eat fruit

Liip went to the market so that his children could eat some fruit.

331:
Liip x-’ek pk’eyb’al rech xtatij lo’n

Liip x+ø+’e+k p+k’ey+b’al r+ech xt+ø+at+tij lo’n

Liip COM+3sABS+go+PFM PREP+sell+NOUN 

3sPOS+REL(by) FUT+3sABS+2sERG+eat fruit

Liip went to the park so that you could eat some fruit

If the subject pronouns and tense/aspect of the two clauses are identical to those of the main clause, a causal adverbial clause may be introduced without the use of the relational noun r+um or r+ech.. 

332:
Luks xb’ek chjay xrtaqij ken rche.

Luks x+ø+b’e+k ch+jaay x+ø+r+taq+ij ken r+che

Luks COM+3sABS+go+PFM PREP+house 

COM+3sABS+3sERG+send+DRV DIR(left) 3sPOS+things

Luks went to the house to get his things.

4.13.4 Complement clauses

If the subject of a complement clause is identical to the subject of the main clause, the two clauses may be joined without a complementizer.

333:
Beéto xno’jij xb’ek.

Beéto x+ø+no’j+ij x+ø+b’e+k

Beéto COM+3sABS+think+DRV COM+3sABS+go+PFM

Beto(i) thought he(i) would leave.

334:
Kraaj re twa’

k+r+aaj re t+ø+wa’.

INC+3sABS+3sERG+want 3sPRO DUB+3sABS+eat

S/he wants to eat.

335:
Are kraaj tb’an rchoch.

are k+ø+r+aaj t+ø+b’an r+choch

3sEMP INC+3sABS+3sERG+want DUB+3sABS+make 3sPOS+house

S/he wants to build a house.

336:
Roq’ kraaj xt-‘ek Chuqul.

Roq’ k+ø+r+aaj xt+ø+’e+k Chuqul.

Roq’ INC+3sABS+3sERG+want FUT+3sABS+go+PFM Tejutla.

Roq’ wants to go to Chuqul.

337:
Kraaj May krtiijuj kyolwik pSipakapense

K+ø+r+aaj May k+ø+r+tiij+uj k+yolw+ik p+Sipakapense

INC+3sABS+3sERG+want May INC+3sABS+3sERG+learn+DRV 3pPOS+speak+PFM PREP+Sipakapense

May wants is learning to speak Sipakapense.

The verb taa’ “to hear” does not require a complementizer, regardless of the subject of the two clauses:

338:
Wa xintaa’ are kirb’an ri rchoch.

wa x+ø+in+taa’ are k+i+ø+r+b’an ri r+choch

1sPRO COM+3sABS+1sERG+hear 3sEMP INC+EPE+3sABS+make DET 3sPOS+house

I hear he was building a house.

339:
 Xintaa’ Chic x-‘e Chuqul.

 x+ø+in+taa’ Chic x+ø+’e Chuqul.

COM+3sABS+1sERG+hear Chic COM+3sABS+go Chuqul.

I heard Chic went to Chuqul.

Also, if the complement clause is verb initial, complementizer may be optional.

340:
Roq’ qa kraaj xt-’ek Chent Chuqul.

Roq’ qa k+ø+r+aaj xt+ø+’e+k Chent Chuqul

Roq’ NEG INC+3sABS+3sERG+want FUT+3sABS+go+PFM 

Chent Tejutla.

Roq’ doesn’t want Chent to go to Tejutla.

341:
Roq’ qa kraaj rech xt-’ek Chent Chuqul.

Roq’ qa k+ø+r+aaj r+ech xt+ø+’e+k Chent Chuqul

Roq’ NEG INC+3sABS+3sERG+want 3sPOS+REL(by) FUT+3sABS+go+PFM Chent Tejutla.

Roq’ doesn’t want Chent to go to Tejutla.

Complement clauses without overt subject noun phrases may also be introduced by the preposition chi/chu followed by the infinitive verb of the complement clause marked with the third singular ergative/possessive prefix.  Although the verbs carry the third ergative/possessive prefix, they are not marked for tense/aspect/mode and are always intrasitivized infinitives.  Thus, they are basically verbal nouns marked for third singular possession. They may however be marked for voice. In fact, the majority of transitive verbs in this construction are intransitivized either through the use of the antipassive or passive voices (see examples below).   In a few cases, (such as with “to be able to” b’an+taj below), the verb does not require the complementizer.  The subject of the complement clause may be either the subject or object of the main clause depending on the verb in the main clause.  For example, the verb “to ask to do something” is transitive and the object noun phrase is the subject of the complement clause.
342:
Mariy kb’antjik ryolwik pSipakapense.

Mariy k+ø+b’an+tj+ik r+yolw+ik p+Sipakapense

Mariy INC+3sABS+can+PERF+PFM 3sPOS+speak+PFM PREP+Sipakapense

Mariy can speak Sipakapense.

343:
Xinrtaqb’ik chu rtz’ulxik Mariy.

 x+in+r+taq b’ik chu r+tz’ul+x+ik Mariy.

COM+1sABS+3sERG+request DIR(go) PREP 

3sPOS+hug+PASS+PFM Mariy.

S/he asked me to hug Mariy.

344:
Xto’ok chi’ wu imul chu rchapik wu pek, cha’

xt+ø+to’ ok chi’ wu imul

FUT+3sA/3sE+help DIR(enter) then DET rabbit COMP

chu r+chap+ik wu pek, cha’ 

PREP 3sPOS+grab+PFM DET boulder, say.

Then she helped the rabbit hold back the boulder.

345:
Xkinel wa chu rtaqxik jun k’eeb’ uxib’ chee’

xk+in+el wa chu r+taq+x+ik 

FUT+1sABS+leave 1sPRO COMP 3sPOS+look.for+PASS+PFM 

jun k’eeb’ uxib’ chee’

jun k’eeb’uxib’ chee’

one two three (several) trees 

I will leave to go look for some sticks.

346:
Xtikrok ri imul chi’ chu rtijik ri rex q’oos ri’.

x+ø+tikr ok ri imul chi’ chu rtijik ri rex q’oos ri’

COM+3sABS+start DIR(enter) DET rabbit then COMP 

3sPOS+eat+PFM DET green grass there

Then the rabbit began to eat the green grass.
347:
Ke ri ral sji’l ri’, chi’ xktkuj kiib’ taq ri q’oos chu rtaqxik 

jun chkop xo’ok chkxo’l.

ke ri r+al sji’l ri’, chi x+ø+k+tuk+j k+iib’taq 

3pPRO DET 3sPOS+child coyote there, then, COM+3sABS+3pERG+scatter+DRV 

ri q’oos chu r+taq+x+ik 

3sPOS+REL(refl) PLUR DET grass COMP 3sPOS+look.for++PASS+PFM 

jun chkop x+o+ø+ok ch+k+xo’l.

one animal COM+EPE+3sABS+enter PREP+3pPOS+middle

The coyote’s children scattered the grasses to look for an animal that had come into their midst.

Another complementizer is ke (probably borrowed from Spanish que).  The use of ke is fairly rare and there are no verbs which specifically must have ke as their complementizer.  All verbs which take ke may also use another complementizer and ke is always used less frequently than the usual complementizer..

348:
Kraaj re ke re twa’.

k+r+aaj re t+ø+wa’

INC+3sABS+3sERG+want 3sPRO COMP 3sPRO DUB+3sABS+eat

S/hei wants him/herj to eat.

349:
Kraaj re ke wa kinwa’.

k+ø+r+aaj re ke wa k+in+wa’

INC+3sABS+3sERG+want 3sPRO COMP1sPRO INC+1sABS+eat(intrans)

S/He wants me to eat.

350:
No’j ri mas qa utz kirb’an ke tjin kiryo’k wi’b’i’ 

no’j ri mas qa utz k+i+r+b’an ke tjin 

but DET most NEG good INC+EPE+3sABS+3sERG+make COMP PROG 

k+i+r+ya’ ok wu i+b’i’

INC+EPE+3sABS+3sERG+give DIR(enter) DET 3pPOS+name

But the worst thing he is doing is that he is using your name.

The interrogative chemo “how” may also be used as a complementizer.

351:
Wre’ xtinb’iij chiwa chemo xb’an ri imul ruk’ ri sji’l, cha’.

Wre’ xt+ø+in+b’iij ch+iwa chemo x+ø+b’an ri imul r+uk’ ri sji’l, cha’

Here FUT+3sABS+1sERG+tell PREP+2sPRO how 

COM+3sA3sE+do DET rabbit 3sPOS+REL(with) DET coyote, say

Here I will tell you what they say the rabbit did with the coyote.

Another possible complementizer is kumu “like.” This is probably another borrowing from Spanish (como).

352:
Keti xtch’ij taq kumu keti utz kch’ojin taq.

Keti xt+ø+ch’ij taq kumu keti utz 

not.like.this FUT+3sABS+endure SUBJ COMP not.like.this good 

k+ø+ch’oj+in taq.

INC+3sABS+fight+AAP SUBJ

He won’t last since he’s not good at fighting.

Another Spanish complementizer si “if” may also be used to introduce clauses in Sipakapense.

353:
Qal kirtaa’ k’ri imul si tla’ k’ob’ul ri sji’l wi’, cha’

qal k+i+ø+r+taa’ k’a ri imul si tla’ k’o+b’+ul ri sji’l wi’ cha’

NEG INC+EPE+3sABS+3sERG+hear then DET rabbit if there exist DIR(go) DIR(arrive) DET coyote wi’ say

The rabbit didn’t know if the coyote was there, they say.

Like relative clauses, complement clauses may also be introduced by determiners.  However, complement clauses introduced by determiners are quite rare.

354:
Kanluch xnmaj wu xb’ij Woy

Kanluch x+ø+nmaj wu x+ø+b’ij Woy.

Kanluch COM+3sABS+believe DET COM+3sABS+say Woy.

Kanluch believed what Woy said.

The interrogative che “what” may also serve as a complementizer.

356:
Xtintaqij nk’i che k’u’l chpom la jul la’.

xt+ø+in+taq+ij nk’i che k’o ul ch+pom la jul la’

FUT+3sABS+1sERG+search+DRV then COMP exist DIR(arrive) PREP+inside DET hole there

I’m going to look to see what’s inside that cave.

357:
Ajwi’ xttoj re wu etzlal wa’ che ri xb’anla’ chu ke ri wal.

ajwi’ xt+ø+toj re wu etzel+al wa’ che ri x+ø+b’an la’ chu ke ri wal

now FUT+3sABS+pay 3sPRO DET evil+NOM there COMP DET COM+3sABS+do there PREP 3pPRO DET 1sPOS+child

Now that evil one will pay for what he did to my child.

358:
No’j ri imul ri’ xul qaj pi rwi’ che ri jroq tchkun re pi raanma sji’l, cha’.

no’j ri imul ri’ x+ø+ul qaj pi r+wi, che ri jroq t+ø+chkun re pi r+aanma sji’l, cha’ 

but DET rabbit there COM+3sABS+arrive DIR(down) PREP 3sPOS+head 

che ri jroq t+chkun re pi r+aanma sji’l, cha’ COMP DET already 

DUB+3sABS+work 3sPRO PREP 3sPOS+heart coyote, say

But the rabbit realized what the coyote was thinking in her heart, they say.

The relational noun r+ech “for” also serves as a complementizer.

359:
Xb’iij May rech Chic x-‘e Chuqul.

x+ø+b’iij May r+ech Chic x+ø+’e Chuqul.

COM+3sABS+say May 3sPOS+REL(for) Chic COM+3sABS+go Tejutla

May said that Chic went to Tejutla.

360:
Roq’ kraaj rech Chent xt-’ek Chuqul.

Roq’ k+ø+r+aaj r+ech Chent xt+ø+’e+k Chuqul.

Roq’ INC+3sABS+3sERG+want 3sPOS+REL(by) 

Chent FUT+3sABS+go+PFM Tejutla.

Roq’ wants Chent to go to Tejutla

361:
Roq’ kraaj rech rum rmal Chent xt-’e Chuqul.

Roq’ k+ø+r+aaj r+ech r+um r+mal Chent xt+ø+’e Chuqul

Roq’ COM+3sABS+3sERG+want 3sPOS+REL(by) 3sPOS+REL(for) 

3sPOS+REL(because.of) Chent FUT+3sABS+go Chuqul.

Roq’ wants Chent to go to Tejutla for himself.

362:
Mund xb’iij rech Maks xtaa’ rech Chic x-’e Chuqul

Mund x+ø+b’iij r+ech Maks x+ø+taa’ r+ech Chic x+ø+’e Chuqul

Mund COM+3sABS+say 3sPOS+REL(by) Maks COM+3sABS+hear 

3sPOS+REL(by) Chic COM+3sABS+go Tejutla.

Mund said that Maks heard that Chic went to Tejutla

Some sentences are acceptable with or without r+ech.  For example, r+ech may be optionally used as a complementizer with the verb taa’ “to hear.”  It is also possible to use r+ech in some cases where the subject of the main clause is the same as that of the complement clause.  In this case, the use of r+ech emphasizes that the subject of the two clauses is the same.

363:
Xintaa’ Chic x-’e Chuqul.

X+ in+taa’ Chic x+ø+’e Chuqul.

COM+1sABS+hear Chic COM+3sABS+go Chuqul.

I heard that Chic went to Tejutla

364:
Xintaa’ rech Chic x-’e Chuqul.

X+ in+taa’ r+ech Chic x+ø+’e Chuqul.

COM+1sABS+hear 3sPOS+REL(by) Chic COM+3sABS+go Tejutla.

I heard that Chic went to Tejutla.

365:
Roq’ kraaj xt-’ek Chuqul.

Roq’ k+ø+r+aaj xt+ø+’ek Chuqul.

Roq’ INC+3sABS+3sERG+want FUT+3sABS+go Tejutla.

Roq’ wants to go to Tejutla.

366:
Roq’ kraaj rech xt-’ek Chuqul.

Roq’ k+ø+r+aaj r+ech xt+ø+’e+k Chuqul

Roq’ INC+3sABS+3sERG+want 3sPOS+REL(by) 

FUT+3sABS+go+PFM Tejutla.

Roq’ wants to go to Tejutla herself 

(i.e. she wants that she goes and not someone else).

4.14
Anaphora

In Sipakapense, a pronominal element in a relational or possessive noun phrase may not refer to a noun phrase that comes after the referring pronoun (unless, of course, the noun phrase is the dependent (possessed) noun phrase and thus itself part of the relational/possessive noun phrase).  Thus, anaphoric pronominal prefixes may only refer to the subject if the subject noun phrase precedes the anaphoric element.

367:
Wan xtzaq rum rmak.

Wan x+ø+tzaq r+um r+mak

Wan COM+3sABS+fall 3sPOS+REL(by) 3sPOS+fault

Wan fell because of him/Wan fell because of himself

368:
Rum rmak xtzaq Wan

r+um r+mak x+ø+tzaq Wan

3sPOS+REL(by) 3sPOS+fault COM+3sABS+fall Wan

Wan fell because of him/**Wan fell because of himself.

369:
Rum rmal x-’ek Chent Chuqul.

r+um r+mal x+ø+’e+k Chent Chuqul

3sPOS+REL(for) 3sPOS+REL(by) COM+3sABS+go+PFM Chent Tejutla

Chent went to Tejutla for someone else.

*Chent went to Tejutla for himself.

370:
Xtuq ri ixoq ral

x+ø+tuq ri ixoq r+al

COM+3sA3sE+feed DET woman 3sPOS+child

The woman(i) fed her(i) children.

*The woman (i) fed her(j) children.

371:
Xk’yej Wan wu rchiij.

x+ø+k’ey+j Wan wu r+chiij

COM+3sA3sE+buy+DRV Wan DET 3sPOS+sheep.

Wan(i) sold his(i) sheep.

*Wan(i) sold his (j) sheep.

If there are two possible referents, the reference following the anaphoric element is interpreted as the referent:

372:
Roq’ kraaj rech rum rmal Chent xt-’e Chuqul.

Roq’ k+ø+r+aaj r+ech r+um r+mal Chent

Roq INC+3sABS+3sERG+want 3sPOS+REL(by) 

3sPOS+REL(for) 3sPOS+REL(because.of) Chent

Roq’ wants Chent to go to Tejutla for himself.

Because any possible reference that precedes the anaphoric element is acceptable, sentences where all possible referents precede the pronominal are ambiguous.

373:
Chent xya’pon poq chi ri achi ri xb’an wu rtz’ab’ib’

Chent x+ø+ya’ pon poq chi ri achi ri x+ø+b’an wu r+tz’ab’ib’

Chent COM+3sA3sE+give DIR money PREP 

DET man DET COM+3sA3sE+make DET 3sPOS+door

Chent(i) gave money to the man(j) who made his(i) doors.

Chent(i) gave money to the man(j) who made his(j) doors.

Chent(i) gave money to the man(j) who made his(k) doors.

374:
Liy xtz’ulij ri ajk’al ri xriq rpoq.

Liy x+ø+tz’ul+ij ri ajk’al ri x+ø+riq r+poq

Liy COM+3sA3sE DET child DET COM+3sA3sE+find 3sPOS+money

Liy(i) hugged the child(j) that found her(i) money

Liy(i) hugged the child(j) that found her(j) money

Liy(i) hugged the child(j) that found her(k) money

375:
Xtz’ulij Liy ri ajk’al ri xriq rpoq (these two have same interpretation)

x+ø+tz’ul+ij Liy ri ajk’al ri x+ø+riq r+poq

COM+3sA/3sE+hug+DRV Liy DET child 

DET COM+3sABS+find 3sPOS+money

Liy(i) hugged the child(j) that found her(i) money

Liy(i) hugged the child(j) that found her(j) money

Liy(i) hugged the child(j) that found her(k) money

376:
Ri ajk’al ri xriq rpoq xtz’ulij Liy.

ri ajk’al ri x+ø+riq r+poq x+ø+tz’ul+ij Liy

DET child DET COM+3sA3sE+find 3sPOS COM+3sA3sE+hug+DRV+Liy

Liy(i) hugged the child(j) that found her(j) money.

Liy(i) hugged the child(j) that found her(k) money.

*Liy(i) hugged the child(j) that found her(i) money.

377:
Ri ke’q ixoq xktz’ulij ri ke ajk’al ri xkriq wu kpaq.

Ri ke’q ixoq x+ø+k+tz’ul+ij ri ke ajk’al ri x+ø+k+riq wu k+paq

DET PLU woman COM+3sA+3sP+hug+DRV DET 3sPRO child DET COM+3sA+3sE+find DET 3sPOS+money

The women(i) hugged the children(j) who found their(j) money.

??The women(i) hugged the children(j) who found their(i) money.

� For example, in K’ichee’ VSO word order occurs if the object noun phrase contains a relative clause (Larsen 1988:349).
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